¥ VWENCERL

WENCERL

PRODUCT
CATALOGUE

. 86-0576-86970099
M echo@wencerl.com |
@& www.wencerl.com g "
Q@ Qianyangxia Village, Wengiao ' I -- 1
Town, Wenling City, Zhejiang |
Province, the PRC ¢ 1 LR e rnn e nsens s AARRER]
’ | T o e L
REE !ijl [T

4 Ao
e i R
R - - B
3 - ' g7 o B
s PR -
V2, =
. I
< 1
¥ i

i
=f

S B B



- CERL I .7 & cns o

BSCLCR/L BSCWCR/L
™ - 5
Tool cutting edge angle 95° Dmin%ii)@ (I'ool cut:}liin@ﬁigglngle 50? Dming/MITEE
Lk
F—s )
»—I 955 2|
= P=
= | —— e —
50°|

FlLZE
Internal turning tool M FLE T
. Internal turning tool

X,
71/ Blade #M#& Specification RF 71k Blade Wyge?*n:—ch
Wrench
S06H-SCLCR/L06 8.5 6 44 | 100 | 12 | 54 | 15° S el o I 5 L e L b 12
) M2.5x5 T8 S10K-SCWCR/L06 ccOOos02000 14 10 8 125 14 9 13° M2.5 x 6 T8
S07K-SCLCR/LO6 8.5 7 4.4 125 14 6 15 S ECE T = = 5 = e = v
S08K-SCLCR/LOG 10 8 5 125 14 7 15° $12M-SCWCR/L09 17 12 9.5 150 18 11 10° M4 x 8 Ti5
S10K-SCLCR/L06 ccOOdoe02000 12 10 6 125 14 9 13° $16Q-SCWCR/L09 ccOOoe9Tsn 21 16 115 | 180 20 148 | 10° — o
»
S12M-SCLCR/LOG 14 12 7 150 | 25 11 10° M2.5 % 6 T8 S20R-SCWCR/LO9 =5 SO R [ ey T ] [ e
S14N-SCLCR/L06 16 14 8 160 18 13 10° AFZRSTEN, ABEZSEERIERES
$16Q-SCLCR/L06 20 16 11 180 32 15 8°
S12M-SCLCR/L09 15 12 7.5 150 25 11 12¢ BSCKCR/L
S14N-SCLCR/L09 16 14 8.5 160 25 13 12° .
 Emfars )
$16Q-SCLCR/LDY 18 16 9.5 180 | 32.5 15 12° Tool cufting edge angle 75° DminShMIER Ho
518Q-SCLCR/L09 ccOmoeT3On 20 18 10.5 | 180 25 17 8° M4 x 8 Ti5
S20R-SCLCR/LO9 23 20 115 | 200 38 18 8°
$255-SCLCR/L09 28 25 14 250 45 23 8°
$32T-SCLCR/L09 34 32 17.5 | 300 45 30 4°
S$16Q-SCLCR/L12 18 16 9.5 180 30 15 10° M5 x 10 T20
S20R-SCLCR/L12 23 20 12 200 35 19 10°
$258-SCLCR/L12 ccOoO120400 29 25 145 | 250 45 23 &
M5 x 12 T20
S32T-SCLCR/L12 37 32 18.5 | 300 50 30 10° L&
Internal turning tool |
S40T-SCLCR/L12 44 40 22 300 60 37 8° o
AFEZUSTAEN, TEZEERIERES progy
1 #& Specification
71 F; Blade 1% Sp Wrench
S08K-SCKCR/L06G y
S10K-SCKCR/L06 ccOmoeso20l] 12 10 6 125 22 9 12 M2.5x6 T8
512M-SCKCR/L06 14 12 7 150 23 11 10°
S12M-SCKCR/L09 15 12 8 150 30 11 12°
S14N-SCKCR/L09 ccOmoeTanOd 16 14 8 160 30 13 10° M8 _—
S$16Q-SCKCR/L09 19 16 9.5 180 30 15 10°
S18Q-SCKCR/L09 21 18 10.5 | 180 35 17 8°
S16Q-SCKCR/L12 ccOoO120400 18 16 9.5 180 30 15 10° M5 10 —
S20R-SCKCR/L12 23 10 12 200 40 19 10°
S20R-SCKCR/L09 23 20 11.5 | 200 35 19 g°
$25S-SCKCR/L09 i e 28 25 14 250 40 24 6° s IR

AFZEESAEN, TEZHERFFEH

97 [httpsl:-//www.wrencérl.com Hﬁps:/}www.wehcefl.com




-

CER L | 7L TSR T, Srew-typeinraluming oo

BMSCZCR/L

s

EiRA

93°

5

Tool cutting edge angle 93°

7

Internal turning tool

Dmin&M i THEZ
NILEE

BSCKCR/L 75°

F{RfAT75°
Teool cutting edge angle 75°

DmingMMIERE
G

L

MFLET]

Internal turning tool |

“'I 75

MFLET

Internal turning tool

e

7] i Blade

©

B oo

L1

—— |

#1#& Specification

S08K-SCZCR/L06 12 8 6.5 125 25 7 13°
S10K-SCZCR/L06 14 10 7.5 125 27 9 12°
O ;
S12M-SCZCR/L06 e 16 e 8.5 150 30 11 10° N T8
S$16Q-SCZCR/LO6 20 16 10.5 180 35 15 8°
S$12M-SCZCR/L09 17 12 10 150 30 11 i
S16Q-SCZCR/L09 21 16 11.5 180 35 15 10°
S20R-SCZCR/L09 eeriHeatany 25 20 13.5 200 40 19 8° Méx8 s
§258-SCZCR/L09 30 25 16 250 42 24 6°
AEZESAEN, TEFEERIFIRER
BSCLCR/L 95°
r’ s N
FiRMI5 inE
Tool cutting edge angle95° Dmin/NIT B -

| eq|

wF
Wrench

wF
Wrench
S07M-SCKCR/L06-A16 9 16 150 26 15 4.9 15%
M2.5x5
S08M-SCKCR/L0B6-A16 10 16 150 28 15 5.5 13°
CC06020000 T8
S10M-SCKCR/L0O6-A16 12 16 150 30 15 6 2%
M2.5x6
S12M-SCKCR/L0O6-A16 14 16 150 35 15 i 10°
AEZHETFEN, FEZEZKIEWRE S
f 45 95° "
Tool cutting edge angle 95° Dminf/hin T E#2 \ H |

.¢d

o

MFLET]

Internal turning tool

' T L A e
f

S07M-SCLCR/L06-A16

S08M-SCLCR/L06-A16

CCrios02]0]

S10M-SCLCR/L06-A16

S$12M-SCLCR/L06-A16

9 16 150 25 15 4.9 15°

M2.5x5
10 16 150 28 15 5.5 13°
12 16 150 30 15 6 f20

M2.5x6
14 16 150 35 15 7 10°

T8

71 5 Blade i #& Specification Wﬂ?efch
S08K-SDUCR/LO7 13 8 7 125 15 T 13
S10K-SDUCR/LO7 15 10 8 125 25 9 10°
512M-SDUCR/L07 DC0702010] 17 12 9 150 28 11 8° M2.5x6 T8
S14N-SDUCR/L0O7 17 14 9 160 28 13 8°
S516Q-SDUCR/LO7 21 16 11 180 30 15 6°
516Q-SDUCR/L11 21 16 11 180 30 15 6°
S$18Q-SDUCR/L11 24 18 13 180 40 i b 6°
S20R-SDUCR/L11 bCcOMM1T30O00O 28 20 13 200 40 19 6° M4 x 8 T15
S5255-5DUCR/L11 35 25 16 250 40 24 4°
S32T-SDUCR/L11 42 32 20 300 45 30 4°

AFZESAHN, TEZIEERFRER

| https://www.wencerl.com

AFZRSTAN, TRZEEKRIFEFEES

https://www.wencerl.com [A4Y




- CERL [ 7.5 7575 - o

BSDQCR/L BSDWCR/L
7 g
62.5° =
( E@m1075° ) ) LA Dminf T .
Tool cutting edge angle 107.5° Dm\nmrJ/\iJDIE% 175° H
bl B —

%7

Internal turning tool

- Internal turning tool

71 K Blade HwF

e 44 RE Wrench
Nl #& Specification iges
7) ki Blade A& Sp Screw Wrench ’
S10K-SDWCR/LO7
S08K-SDQCR/LO7 7 S12M-SDWCR/LO7 19 12 | 105 | 150 28 11 10°
g’:g;‘zgg‘éa’ﬁ; e T Lt e e HT - S14N-SDWCR/LO7 DCCIC1070207(] 20 | 14 | 115 | 160 | 30 | 13 | 10° | M2.5x6 T8
. ) X o
14l EDGEEL 7 = e - o = = = S16Q-SDWCR/LO7 23 16 | 125 | 180 30 15 g0
S16Q-SDQCR/LO7 20 16 | 105 | 180 | 30 15 6° 320R-S0WCH/LY7 £8 =i SRl 20 Sl A0 o 5
S160-SDQCR/L11 50 i s | 5 = = S16Q-SDWCR/L11 24 18 15 180 25 15 8
S20R-SDQCR/L11 s 23 20 13 200 39 19 6° S20R-SDWCR/L11 26 20 | 145 | 200 40 19 6°
r . DCO11TS M4 x8 T15
5255-SDQCR/L11 peoonTsOd 30 25 16 250 40 24 4° MixE Fih 5255-SDWCR/L11 SISt 32 25 17 250 45 24 4° S
S32T-SDQCR/L11 38 32 20 300 43 30 4° S32T-SDWCR/L11 a8 32 20 300 50 30 2°
ABZRSA AN, AEZFEERERESH AEEZEISHEH, AEZEEXRERTES
i £93° A (T W 2. Lo 95\
i o ool cutting edge angle 95° i 4
Tool cutting edge angle 93 Dmin@ /T2 H g edg 9 DminB/MITERZ

a9
Sl

T ——
WAET ‘
vy

%7

7L :
Internal turning tool Internal turning tool

i %

wF
71 K Blade ##& Specification 71k Blade Wiaroh
’ = §& ﬁ
S10K-SDZCR/L07 15 10 | 85 | 125 | 28 9 12° il e 10 5 5.8 | 125 | 20 7 12
$12M-SDZCR/L07 DCOH0702000] 18 | 12 | 95 | 150 | 30 11 | 10° | M25x6 8 Sl LY DCO070200 L 7 | 125 | @8 9 10D NS -
$16Q-SDZCR/LO7 22 16 | 115 | 180 | 30 | 15 8° 2 E-SORCRA DT 16 12 9 150 | 30 1 8
$16Q-SDZCR/L11 23 16 | 13.3 | 180 | 35 15 10° $16Q-SDXCR/LO7 20 18 11 180 | 30 15 6°
S20R-SDZCR/L11 27 20 145 | 200 40 19 8° 516Q-SDXCR/L11 19 16 9.5 180 35 15 10°
$25S-SDZCR/L11 PeHRTED 32 25 17 | 250 | 45 24 6° sl e S20R-SDXCR/L11 pCOC11T300 25 20 13 | 200 | 40 19 6° M4 x 10 T15
$32T-SDZCR/L11 38 32 | 205 | 300 | 50 30 4 $255-SDXCR/L11 32 25 17 | 250 | 40 24 4
AFZRSTEN, TEZEEREREN AFZRSTEN, ABEZEERIERES

U https://www.wencerl.com https://www.wencerl.com %4




BN @ CERL I 7.4 s

BSTUCR/L
BSTUBR/L
o A

o 'd N

5 : 95°

TI'o':ul cut%n@&lgg angle 93? S 7 ' il cu{ﬁ@ﬁge SngIas Dmmﬁd\j]nlﬁé |‘__.‘
\ ? {w_T
L
n°i’

. MFLET]

%7] a e 2 T : . \___Internal turning tool )
Internal turning tool

71 K Blade # #& Specification iger iRF

71 E Blade n ificati - T

Wrench Screw Wrench
q V ¢Dmin| ¢d | L | H | « \g@ ﬁ
S06H-STUBR/LO6 7 6 4 100 156 5.4 12° S08K-STUCR/L0O9 10 8 5 125 23 7 15°
TC 0902 M2.2x 6 T6
S0806J-STUBR/LOB 7 8 35 | 110 | 20 7 120 e HLReReC - - - P - " %
51006K-STUBR/LO6 o 7 10 3.5 125 20 9 12° SO %G Te 5 STUCH
2x 08K-STUCR/L0O9B 10 8 5 125 23 7 15°
$1207K-STUBR/L06 8 12 4 125 | 25 11 | 12° TCOO0902000] b2 BB T8
51606K-STUBR/L06 7 16 4 125 20 15 12° S10K-STUCR/L0O9B 12 10 6 125 24 9 13°
51607M-STUBR/L06 8 16 4 | 150 | 25 [ 15 | 12° S10K-STUCR/L11 s Sl a | 42=
B A5 AEEE T TE &l
ARZUSAEN, THEERRRIFRE S$12M-STUCR/L11 14 12 7 150 | 27 11 10°
a S14N-STUCR/L11 16 14 8 160 20 13 10°
.STUDR/L 93 TcOO110200 M2.5x6 T8
S16Q-STUCR/L11 18 16 9 180 30 15 8°
GD
r o - - O
: 493 I Dmin S20R-STUCR/L11 22 20 11 200 a5 19 6
Tool cutting edge angle 93°
S258-STUCR/L11 28 25 13.5 | 250 40 24 4
S16Q-STUCR/L16 18 16 9.5 180 28 15 10° M4 x 8 Ti5
S20R-STUCR/L16 23 20 11.5 | 200 40 19 8°
i TCOO16T3OO
S255-STUCR/L16 28 25 14 250 40 24 6° M4 x 10 T15
S32T-STUCR/L16 35 32 175 300 45 30 4°
AFBZRSTEN, AREZSEERIERES
HFLET]
Internal turning tool )

I #%& Specification et iRF
7) Fy Blade H#& Sp Screw Wrench
S07K-STUPR/L08-A12 9 12 125 25 11 4.5 5 s

TrPOCJos020101 M2.2x6 T6
S08M-STUPR/LO8-A16 10 16 150 28 15 5 13°
S08K-STUCR/L09-A12 10 12 125 28 1 55 15°

TCOogoz2C] M2.5x6 T8
S08M-STUCR/L09-A16 10 16 150 28 15 55 10°
S10M-STUCR/L11-A16 12 16 150 30 15 6 12%

TCOO110200 M2.5x6 T8
S512M-STUCR/L11-A16 14 16 150 o 15 7 10°
S10M-STUPR/L11-A16 - _— 12 16 150 30 15 6 12°

TPOO11030C1 M3 x8 T8
S12M-STUPR/L11-A16 14 16 150 a3 15 7 10°

AEZHSHER, TERIFERFFES

103 ‘https://www.wencerl.com https://www.wencerl.com A%




EE T CERL E N L1587 s s ot

BSTFCR/L BSTUPR/L
"3 = B 'd o ~
91 F IR A5 ,
Tool CUtEt‘i:_f;‘ﬁéﬁage angle 91° Dmini/MITEE | H | Tool cutting edge angle 95° Dm*”g"lmj B
N Ly s R ?I i oo 2]
- <] g =
Lt : L ‘
iﬂa ‘ . |
0° {
0° s x
E—4 MFLET
RELET] ¥ \___Internalturning tool )
Internal turning tool

71 K Blade HwF

Wrench
71 K Blade ipes wF .
Screw Wrench )
¢Dmin| ¢d f L L1 H a®
S08K-STUPR/LD8 10 8 5 125 20 % 15°
S10K-STUPR/L08 15 10 6 125 20 9 18°
S08K-STFCR/L09 10 8 5 125 23 7) 15° 51207K-STUPR/L0O8 TFLICeauel L] 9 12 4.4 125 25 11 15° L s
1 M-STUPR/L 10 16 5 150 28 15 15°
S10K-STFCR/L09 TcOOosoz2000 11 10 6 125 24 9 e M2.2x6 T6 gogﬁa_snsjplén_%fgos 10 8 5 125 23 7 1:n
S12M-STFCR/L09 13 12 7 150 27 11 {gs S10K-STUPR/L0OS TPIOogo02010] 12 10 6 125 23 E) 13° M2.5x 6 T8
S12M-STUPR/L09 14 12 i 150 23 11 10°
S08K-STFCR/LO9B 10 8 5 125 23 7 15° S10K_STUPR/L11 12 10 6 125 24 9 158
S10K-STFCR/LOSB TCOO0902000] 11 10 6 125 24 9 13° M2.5 % 6 T8 gliﬂ‘glb‘ig;’t;: 1: Ii ; 128 2; 1‘; 1g°
- - 10°
S12M-STFCR/L09B 13 il 7 150 27 11 12 S16Q-STUPR/L11 TRELTIEnE 18 16 ) 180 30 15 8° Wi L
S18Q-STUPR/L11 20 18 10 180 30 i 8°
S10K-STFCR/L11 12 10 6 125 24 9 10°
S20R-STUPR/L11 rehed 20 11 200 35 19 6°
S12M-STFCR/L11 14 12 T4 150 27 11 8° AFEESTEREE, TESHSERIERER
S14N-STFCR/L11 TcOO110200 16 14 8 160 2iF 13 8° M2.5x6 T8
S16Q-STFCR/L11 18 16 9 180 30 14 6° .STFPR/L
S20R-STFCR/L11 22 20 11.0 200 35 19 4°
g ( E@mor ki .
S16Q-STFCR/L16 18 16 o 180 28 15 10 M4x8 T15 Tool cufting edge angle 91° DminS/h I ER -
S20R-STFCR/L16 23 20 11.5 200 40 19 8° 1 ©
TCOO16T30O _191", =
S255-STFCR/L16 28 25 14 250 40 24 6° M4 x 10 T15 [ =
/ L1
S32T-STFCR/L16 35 32 | 17.5 | 300 45 30 - T— e ‘-—-‘ L ‘
Py —_ s - : -
ABZRSAEN, EZHEERERES
0° f
I
7]
\__Internal turning tool )

71 F Blade #1#& Specification gy wF

Screw Wrench
V ¢Dmin| ¢d f L L1 H o §) N
S08K-STFPR/L0O9 10 8 5 125 23 7 15°
S10K-STFPR/L09 TPLI[10902(1[] 11 10 6 125 24 9 13° M2.5% 6 T8
S12M-STFPR/L09 13.5 12 7 150 27 11 12°
S10K-STFPR/L11 12 10 6 125 24 9 10°
S12M-STFPR/L11 14 12 7 150 27 11 a2
S14N-STFPR/L11 TPLI110300] 16 14 8 160 27 13 8° M3x8 T8
S16Q-STFPR/L11 18 16 9 180 30 14 6°
S20R-STFPR/L11 22 20 11 200 35 19 4°

AFFZUESF LN, TEZHEREREH

QU https://www.wencerl.com https://www.wencerl.com ' 106




- CERL I 757447, oo s

BSTWCR/L BSSSCR/L
- - N 7 2
60 45° ' p
Tool cut:ilizn{?tﬁige angle 60° Dminf/MITERE H_ Tool cu%n@?élge angle 45° Dm'”ﬁ’j)@ H

7

FLET]
Internal turning tool ) Y Internal turning tool

F
71 Fy Blade Wrench
- S12M-SSSCR/L09 16 12 8.5 150 30 11 15+
S08K-STWCR/L09B TCL09020](] 11 8 5.5 125 25 7 12° M2.5%6 T8 -
S10K_STWCR/L11 14 10 s 125 25 9 10° S14N-SSSCR/L09 19 14 10.5 | 160 30 13 12 M4 x 8
S12M-STWCR/L11 16 12 9 150 30 11 8° S$16Q-SSSCR/L09 21 16 11.5 180 35 15 107
S14N-STWCR/L11 TcOO110200 18 14 10 160 30 13 8° M2.5x7 T8 S$18Q-SSSCR/L09 lo/m[m{el"] fIm]m| 23 18 12,5 | 180 35 17 10° T15
$16Q-STWCR/L11 20 16 1] 180 30 15 6° S20R-SSSCR/L0O9 25 20 13.5 | 200 40 19 E i
o X

S20R-STWCR/L11 25 20 13 200 35 19 4 S255_SSSCR/LO9 30 25 16 250 40 o2 &
S20R-STWCR/L16 26 20 145 | 200 40 19 8°

T 16T 1 S32T-SSSCR/L09 37 32 19.5 | 300 45 30 4°
S255-STWCR/L16 SCheratin 30 25 15 250 40 24 2° Méckig i

ABESHEAANY, TRESESRERTH AESDSTEN, TEZEERFIRCH

BSSKCR/L
BMSTWPR/L
£ o g’ ) )
f Fimme0° b Tool cut:_tlizni??;gg angle 75° Dmln%leIE& H o
Tool cutting edge angle 60° Dmin@/hMIEE ‘..i.. . :J
d b L |

Internal turning tool

0°f
- e e ——
8 Y.

MFLET]
Internal turning tool
\.
i #& Specification 9zt wF
n 71/ Blade & Sp Screw Wrench
I #& Specification R
71 B Blade I Sp Wrench @
S12M-SSKCR/L09 16 12 8.5 150 30 11 j il
S08K-STWPR/LO9 TCO109020000 S14N-SSKCR/L0S 19 14 9.5 160 30 13 12° M4 x 8
S10K-STWPR/L11 14 10 8 125 25 9 10° S16Q-SSKCR/L09 SO A 20 16 10.5 180 30 15 10° -
2 [ il 15
=M el 2 5 3 a0 | 99 . 2 S18Q-SSKCR/L09 22 18 | 115 | 180 | 40 17 | 10°
S14N-STWPR/L11 TPOO110300 18 14 10 160 30 13 8° M3 x 8 18 =
S16Q-STWPR/L11 20 16 1 180 30 15 &° S20R-SSKCR/L09 24 20 ek 200 40 19 8 M4 x 10
S20R-STWPR/L11 25 20 13 200 35 19 4° S$25S-SSKCR/L09 30 25 15 250 40 24 6°
AEZUSAEN, TESHEEREREN ABZEEFENE, AEZEEERERESH

0 | https://www.wencerl.com https://www.wencerl.com ¥




B I CERL I 757875 e s s

BSVQ*R/L BSVW*R/L

; H
( ER@117.5 ) . . T R Drinf AT K M
Tool cutting edge angle 117.5° Dminf/hm T EfE " - Tool cutting edge angle 72.5° =
o . . NN —
= - 72,577 ¥ 4 72.5° o
. A i ; — ‘ ‘
L1 ‘ 3 ?.1 L1 1
c\x_? L R J

0°4 e
%7 _ AL ]
3 Internal turning tool

Internal turning tool

ie2 #HF ##& Specification
= Screw Wrench =
S e
Type Type
CTEEfT BAKERS CTIBERT BIEEHS
S16Q-SVQ-R/L11 VGOO11030100 21 16 | 11.5 | 180 35 T i S10K-SVWCR08 B
e VBOLO 110300 = 5x S12M-SVWCR08 VCLIC1080201C] 16 | 12 | 87 | 150 | 150 | 11 | 12° | M20x5 T6
i b ) = = L b Il S14M-SVWCR08 18 14 | 105 | 125 | 150 13 12°
S20R-SVQ-R/L16 26 20 14 | 200 | 50 19 |10°] 8° S16Q-SVWLIR11 VBO110300C] 23 16 15 20 180 | 14.8 | 12°
. M2.5x7 T8
S5258-8VQ-R/L16 VCO1604000] 32 25 16.5 250 50 24 8° | 6° LR T FiE S20R-SVWILIR11 vci1o0300 27 20 | 7 28 200 18.6 10
“sva. VBOI[1160401 0] e x S20R-SVWLIR16 35 20 17 28 200 | 186 | 10°
SeElo iR H el A s I R R S255-SVWLIR16 ‘dg%%ﬂggga 38 25 23 33 | 250 | 234 | 10° M4 x 10 T10
S40T-SVQ-R/L16 49 40 27 300 55 38 8° | 6° S32T-SVWIIR16 44 25 26 41 250 30 8°
AEZBEFEH, AIEFEERIERES AFEZREFEN, AESHEREREH
*
BSVU*R/L N
BSVX*R/L
( E{gf9s° ) y o i
+imE6°

Tool cutting edge angle 95 Dminf/MALZHEE Tool5URIngG 5dge angle o6° DminB I i
/ ——

ofo
I
 [oeql

¢ ol T —
x7 !
FLET]

Internal turning tool

/ h: Internal turning tool
wF

i E= HUEBED 71 K Blade #1#% Specification

Type me
CAKERT BAKRERS Type

CHIKRER7T BIKREMS"
S10K-SVUCR08 ; Sl e
S12M-SVUCRO08 VCOI]osozC1d 16 e 9.5 150 15 11 122 10° M2.0x5 T8 S16Q-SVX-R/L11 VCOO110300 22 16 11.5 180 40 15 10°| 8° o .
S14N-SVUCRO08 18 | 14 | 105 | 160 | 18 | 13 [10°| &° T vBOC11030I0] Te| M25*7 8
516Q-SVU-R/L11 veOO110300 22 16 12.5 | 180 30 15 [io[ee] o T8 il G = Sl - L ) .
S20R-SVU-R/L11 VvBOO11030000 26 20 14 200 32 19 | 8° | 6° o S20R-SVX-R/L16 26 20 135 | 200 50 19 [10°| &
S20R-SVU-R/L16 31 20 20 200 50 19  [10°] 8° 5255-8VX-R/L16 vCO1604010] 31 25 U = B 2h | BE M4 x 10 T15
S25S5-SVU-R/L16 VCII1116040101 35 25 20 250 50 24 | 8°|6° S32T_SVX-R/L16 VB [160401(] 38 32 195 | 300 60 30 |10°| &° x
532T-SVU-R/L16 VBLI[116040]0] 41 32 | 225 | 300 50 30 [10°] &°| M4x10 L} : ——
S40T-SVU-RIL16 e e = 300 = 28 & 6 S40T-SVX-R/L16 46 40 | 235 | 300 65 38 |8 |86
AFERESTHH, TEZEERIERESH ABZREFEN, TEZEFEREIREH

0kl https://www.wencerl.com https://www.wencerl.com kit




- CERL I 57875 s s s

*
BSVJ*R/L BSWLCR/L
AT h . ( EmF5° b
Tool cutting edge angle 3° Dmin&MMIER H Tool cutting edge angle 95° Dminf/n T B2 H
o o o e |
£ R —
] y o2 ‘ "
o L1 L ‘ . 0‘;
a 5
il
0% 0y
¥ 4
[ fﬂ' o [ Wf st [
nternal turning too y. Y Internal turning too b,

& Specification 1 #& Specification
itk
Type
CHkEfa7 BIRE/&S
516Q-SVJ-R/L11 VCOIrI110301 0 22 16 115 | 180 40 15 [10°| 8° S08K-SWLCR/L04 10 8 5 125 25 7 13°
! M2.5x%7 T8 WCLI[1040201(] M3 x 6 T10
S20R-SVJ-R/L11 veO110300] 26 20 13.5 | 200 45 19 |8 |6° S10K-SWLCR/L04 13 10 6.5 125 30 9 10°
S20R-SVJ-R/L16 26 20 13.5 | 200 50 19 |10°| 8° S12M-SWLCR/L04 16 12 7.5 150 37 11 13°
S255-SVJ-R/L16 1 - 31 25 16 250 50 24 |8 |6 S$16Q-SWLCR/L06 20 16 9.5 180 40 15 10°
Ve e M4 x 10 T15 WCOr06T3000) Mé x 10 T15
S32T-SVJ-R/L16 6 38 32 19.5 | 300 60 30 |[10°] &8° S20R-SWLCR/L06 24 20 115 | 200 40 19 8°
S40T-SVJ-R/L16 46 40 23.5 | 300 65 38 |8 |6 S$258-SWLCR/L06 29 25 14 250 40 24 6°
AFZRETEN, TBSHEEREREH AFEZREFEN, AESSERIEREH
BMSVZ*R/L
e 5 N
Fmmo3 . P

Tool cutting edge angle 93°

- Dmin u; 77 \‘V
I 93° o

™ _ H
Tool cutting edge angle 93° Dminf\MTAE ‘ |

0°
Internal turning tool P )

.

FLET
Internal turning tool

/ WFE
71 /5 Blade Wrench
7] /i Blade
RS
Type : S06H-SWUBR/LO6 7 6
CNREMT BIREMS = S0705H-SWUBR/L06 6 7 3 100 16 6 15°
—— S0805H-SWUBR/L06 6 8 3 100 | 16 7 15°
$16Q-SVZ-R/L11 VCOIO110300 22 || b ahee o4 ek o S1005K—SWUBR/LO6 8 10 3 125 | 16 9 15°
DSV vBO 110300 - - a0 e 19 |e e : S1205K_SWUBR/L06 WBGTO80102 B 12 3 125 | 20 11 15° — 6
—— S1605K_SWUBR/L06 6 16 3 125 | 20 15 15° :
§258-SVZ-R/L16 34 26 | 195 | 250 | &0 20 |86 S0806J—SWUBR/L0G 7 8 35 | 110 | 20 5 15°
S32T-SVZ-R/L16 g,gHH:gngH 42 32 | 235 | 300 | 50 30 [10°| 8| Max10 T15 S1006K-SWUBR/L06 7 10 | a5 | 125 | 20 9 12°
- S1207K—SWUBR/L06 8 12 4 125 | 25 11 12°
SHiEsa s Bk o [ B S1607M—SWUBR/LO6 8 16 4 | 150 | 25 | 15 | fo-
AEZRNSHA AN, TEZFEEREREH AFZRETN AN, AIEFEEREFRES

https://www.wencerl.com https://www.wencerl.com ¥




B I CERL I 757875 e s i

1 i ]5: 2L2013 2 0320285.8
BSWDCR/L BSCLNR/L 95° EH=m RS
" o . ' 5° ™y
Tool CU“I”@?'?’ES angle 95° Dming/MITEE \*i*l Tool cut%nﬁjﬁeﬁ;ge angle 95° Dmmﬁr}/x}iﬂlﬁ&

_ed |

4 T L B

R ——————
i
71 MFLZET

LE :
Internal turning tool L Internal turning tool

7] K Blade 71 5 Blade
as
Type
CIKkEaT™ BIKEfA5"
S08K-SWDCR04 9 8 5 125 25 Fi 0°
S16Q-SCLNR/L12 19 16 180 26 15 9.5 15°
S10K-SWDCR04 WCMT040208 11 10 6 125 25 9 0° M3X7 T8
S12M-SWDCR04 13 12 7 150 30 11 o°
518Q-SCLNR/L12 CNOO120400 21 18 180 28 16.8 10.5 15° M4.5 x 14W T20
S14N-SWDCRO05 16 14 8 160 30 13 o
S16Q-SWDCR05 WEMTRe00 18 16 9 180 35 14.8 [ el L
~ . S20R-SCLNR/L12 23 20 200 28 18.4 11.5 15°

S20R-SWDCRO06 22 20 11 200 as 18.6 0°

WCMT060408 M3.5X10 T15
S255-SWDCRO06 27 25 13.5 250 40 23.4 o° AT ESRSTEH, TESSEREREE

AFERESAEN, AEZEERIERER
= =
BMSTUNR/L 93° TG £95: 2120132 0320285.8 BSCKNR/L 75° EF7= 5 515 212013 2 0320285.8
4 iﬁ 93° ) v Eﬁﬁ750 ™y
Tool cutting edge angle 93° Tool cutting edge angle 75° DminS/M M TERZ
DrinB/AIT BE i
o ; = I % b
_93/’ I £ | 7554
‘_i /_‘ ‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ a |
P
A i [ o
&
T
4
7

Internal turning tool ) | Internal turning tool )

HF 1 #%& Specification 9t wF
71 Fy Blade Wrench 71} Blade A& Sp Screw Wrench
) =2 2
=" S=T
Type Type gx»)
CTBERT BIEERS CTIERf&7T BIEERS
S16Q-STUNR/L16 19 16 180 26 14.8 9 15° S16Q-SCKNR/L12 19 16 180 26 15 9.5 15°
S18Q-STUNR/L16 TNOC1604010] 20 18 180 28 16.8 10 15% M3.5x 13T T15 S18Q-SCKNR/L12 CNJ[J120400] 20 18 180 28 16.8 10.5 15" M4.5 x 14W T20
S20R-STUNR/L16 22 20 200 28 18.4 11 15° S20R-SCKNR/L12 23 20 200 28 18.4 11.5 157
AFESRSAEN, TEZSERFEIREH AFZREFEN, AEZEERIEREH

113 https:]/www.wencerl.com https://www.wencerl.com 114




BN D CERL I 757875 e s s

7= 15 ol 2.
BMSTFNR/L 91° TR @ £71%: 21201320320285.8 BESTLNR/L 95° L H7 5 515 202013 20320285.8
L ERf1° N é M5 ) DmingM T EE
Tool cutting edge angle 91° Tool cutting edge angle 95° 2
DminS/MMIERZ .L,l
[ s s Ly o5~

u“f )

MFLET]

| I:'\]I?LZ'E'I| [ Internal turning tool
nternal turning too ) L g )

18es F R"F
71 Fy Blade Screw Wrench = 71k Blade Wrench
i il
Type Type
CTEEfT BIEEHS CTIKERT BIHERS
S16Q-STFNR/L16 18 16 180 26 15 9 15° S16Q-STLNR/L16 21 16 180 26 15 11.5 15%
S18Q-STFNR/L16 TNOC1604030 21 18 180 28 16.8 10 i M3.5x 13T T15 S18Q-STLNR/L16 TNCIC1604 0] 23 18 180 28 16.8 12.56 152 M3.5x 13T T15
S20R-STFNR/L16 22 20 200 28 | 184 | 11 15° S20R-STLNR/L16 25 20 200 28 18.4 | 135 | 15°
AFERETEN, TEZREERIERES AFEEZRESAEN, TEZFEERFEREH
e |7 aa £51S. 202013 2 0320285.8
BSTQNR/L 105° E M £FS: 212013 20320285.8 BESTWNR/L 60° £FEm %
( w105 ) Dmin& T A H [ 4 m60° .
Tool cutting edge angle 105° E/i ‘ Fonlsuliing 2dge angle &0 DminB/hmIER
MRLE®

£
|

LI,
Internal turning tool

Internal turning tool

wF e HwF
71 Fy Blade Wrench 71 Fy Blade Screw Wrench
) =2 2
=" =%
Type Type
CTIABRa7T BIEE#HS CIKERT BNEERAS®
S16Q-STQNR/L16 21 16 180 26 15 11.5 15° S16Q-STWNR/L16 21 16 180 26 15 11.5 152
S18Q-STQNR/L16 TNOC160400] 23 18 180 28 16.8 125 15% M3.5x 13T T15 S18Q-STWNR/L16 TNCIC1604000] 23 18 180 28 16.8 12.5 157 M3.5x 13T T15
S20R-STQNR/L16 25 20 200 28 18.4 13.6 15° S20R-STWNR/L16 26 20 200 28 18.4 13.56 16?
AFEREFEN, AEZFEERIEREN AFZRETAEZN, AIEZSEREREH

116

https://www.wencerl.com https://www.wencerl.com [



2 /- CERL

BSWLNR/L 95° TH™an €15 2020132 0320285.8 £§)2. 202013 2 0297867.9

Demnd L E& -

mAET

Internal turning tool

Specification upet i F
e AL S ‘ Screw Wrench
=
Type
CAREMT BIEEMS

S160Q-5SWLNR/LOB

S18Q-5SWLNR/LD8 WNLIJos04[ 1] . : 6. Md4.5 x 14W

S20R-SWLNR/LD8

#ifl, TREEZEHERERER

BSR4 ) ﬂ”//’///

17 'Https:'/'/www.wénce'rl.com




O RN T R pe——

- + = .
H+ZEJIFNE R SR ens. 2201320207867 EMSCLCR/L

R AE B It H LA BB TR i A S Rl 32 8 7 - x =
kAR . ﬁfﬁ‘ﬁﬂ:ﬁﬁl ’ ﬁﬁﬁﬁlﬁc ﬁ;’é;&%j} LL{ET] Tool cutting edge angle 95° Dmin&/MLER N
HHwERE . — AHRAERM, HEMERE. al

BITHETME, BRETNLERFHIE TR,

—— HMIMEMEEBETISORE,

FLE
L. Internal turning tool

EERARBHBF, FORUTEM, EEAREIELE

e HF

%ﬁhﬂxﬁﬁﬁﬂc EEMELENAESEREES J1 B Blade M #% Specification Sy, WiFanah

i //<§
. Emﬁﬁﬂqﬂ* HO4F-SCLCR/03 ceOmoaTor O 4.8 4 25 80 15 3.6 15° M1.8x4 T6
_____________________________________________ ) HO5G_SCLCR/03 55 5 28 | 90 | 15 | 45 | 15°
| B i HO5H-SCLCR/04 ccOfo4ToId 5.8 5 2.8 100 22 4.5 52 M2.2x 4 T6
owzww TR = e
; cclloeso2010] M2.5x6 T8
49.7g 15.8ms | H10K-SCLCR/06 1R 10 6 125 50 9 13°
| | H12M-SCLCR/06 14 12 7 150 60 11 10°
| = ) i H12M-SCLCR/09 16 12 9 150 | 60 11 12°
I i o J ; H14Q-SCLCR/09 16 14 | 85 | 180 | 70 13 | 120 M4 x8
| | H16R-SCLCR/09 ccomoaT3ng 18 16 9.5 200 80 15 2= T15
! ‘ | H18R-SCLCR/09 20 18 10.5 200 90 17 8° Mdx 10

; H20X-SCLCR/09 22 20 115 230 100 19 8°

ABZESA &N, TEZHEERIEREH

NIEE

iR 5h 1% 1k i (8]

MR T S S E R, 70.1

1 BV th bl h A g 20ms BSDUCR/L
BB FOTE, HEERD

e | e T e I_ ' FiREos° 2y

Tool cutting edge angle 95°

DminS/MITER

O bRIAHERITIMFSCLP1816R-09STEl/d=5. VIHIRE A0.5mm#nit iy & #H0.05mm/reviyin T& M4 FEHE,

B XFCCG/MT - CPG/MT - CPMX - TPG/MXTIKHIEA
MFH+ZE I, RAEERRERT, RTRAMTRAROIH

WR7IMW: FSCLC/P - FSCLC/P...E Ha7IW: FSTUP - FSTUP...E

%7
TNHRHES X RET NS Je EUB4T
CCG/MT0602 = (©6.35) AR E CPMX0903<:7: (©9.525) 1 FI B4R 5T R 25 71 B Blade L2 wF
Screw Wrench
CPG/MT0802 < (®7.94) EMATS3R TPG/MX0802 < (D 4.76) S FACS200TRY
CPG/MT0903 57 (©9.525) A TS4E TPG/MX0902 £ (D©5.56) W FACS250TH CTBEE®T BIEEMS
CPMX08020¢ (®7.94) 3t G TPG/MX1103 <0 (99.525) B ACS300890 T
H10K-SDUCR/LO7 15 10 8 125 50 9 10°
OMEFERSTIA, FABREHIE, DCO0702010] M2.5x 6 T8
H£: TPMT/WO9, NMBMXIRITRI AR, AMLELR, H12M-SDUCR/LO7 17 12 9 150 60 11 8

AFEZRST AN, TEZEERFERES

119 https:/)'www.wencerl.com 120

https://www.wencerl.com




BN @ CERL I 25747 s

BSTUBR/L BHNR
3 > ™) o ™
93
Tool cut?%'@ﬁllge angle 93° HNR/L
. Dming/hITEE .
£ 5
e B
L%, RS %)
Internal turning tool ) L Threading tool

nges
Screw

wF
Wrench

F

Wrench

71 K Blade

71 K Blade

AEZBSTEN, TEZHERERES

121

https://www.wencerl.com

H06J-STUBR/L06 7 6 4 110 25 5.4 12° HNRO00BK06J06 06RO 8 6 4 110 2 5.4 15
H0806J-STUBR/LO6 74 8 3.6 110 25 7 129 n o
™ - TBOIC0601010] - m . = = . P M2.2x5 Te HMNROD0BK06-A10 06[JRCIC] 8 10 4 125 25 9 15 M2x5 T6
1006K-5 i5 g HNRO007J08 06CROC 10 7 53 | 110 | 12 62 | 15°
H1206K-STUBR/LO6 T 12 4 125 25 14 12=
Te0080200] HNRO00BK08 08RO 10 8 55 125 12 T a5 M2.5x6 T6
HO8K-STU[JR/LO9 TPO 09020000 10 8 55 125 40 7 15 M2.5x 6 T8 HNROO10K11 11OROO 12 10 6.8 125 15 9 i flatd i T6
H10K—STUDR/LT1 I 2 o 5 26 | B0 o T HNR0O12M11 110ROO 16 12 | 66 | 150 | 15 11 15°
DX
n ° HNROO13N16 16JROOC 18 13 9 160 22 12 15°
H12M-STUCIR/L11 TPOCI1103000) 14 12 7 150 60 1 10 M3 x 8 T8 M3:5%10 Tis5
H16R-STU[IR/L11 18 16 9 200 80 15 8° HNROO18R16 16RO 20 16 10.5 200 25 15 15°
H16R-STUCR/L16 19 16 9.5 200 80 15 8° ATEREEEN, TESEERERTEE
H18R-STUCR/L16 TCOO1eT30 20 18 10.5 200 80 17 8° M4 x 10 T15
H20X-STUCR/L16 22 20 11.5 230 80 19 6°
AT ERSTEN, TEZFERIERER
~
 TREe N HNGRIL 15" Drin@hATES o
Tool cutting edge angle 93° D@ TER " : .
minh \
| —
/
miEE
?Li, = Slotting tool )
Internal turning tool
=,
#1#% Specification RF 71 K Blade #1#% Specification Wﬂ:—'e?ﬁ:_ch
Wrench
HOBJ—SWUBR/LOG 7 5 34 | 110 | 12 | 54 | 15 HNGR08J06 B6GRIL 2 8 47 15 110 7 M2.2x 4 7
H1005K-SWUBR/L0G WBLI[1060110) 6 10 3 125 22 9 15° M2.2x5 T6 HNGR08J07 7GRIL E 8 5.8 15 110 7 M2.5x 6 T7
H1205K-SWUBR/L06 B 12 3 125 29 11 15° HNGR10K08 8GR/L 3.5 10 7.6 20 125 8 M2.5x6 T7

ABZESH LN, TEEEERIFIFES

https://www.wencerl.com ¥4




B2 47 Z= J] Threading tool

W2 40 2 7] B S 45 i 15 AR

Preparation description for screw tuming tool

NEWE
_ Height of tool nose H _
T!hrﬁﬁ;ﬁm %m;’?mm = :1 125 i) w:‘th%jn[: ﬁn sation
: - B 7147 FH00% R 150
Unit; mm :
Internal thread OO0 is usad to indicata P 170 o
E I E xtﬁnﬁ%ea d the handie of round knife | . Q 180 L Without compensation

S||E||R||256||25|| M || 16

IHI75 8
Cutting direction

L EEAR
| Mods of pressing plate

Upvéa:r!:%riez&ure type| | R Lﬁ?}l H{r. mm ﬁ:"l:?' Eﬁ ﬁ?)ﬂ{’: P‘] 'm
S nﬂ&ﬁ&t | L ‘ ;‘_E Eﬂlﬂﬁﬁﬁﬁﬁ;ﬁfﬁ Code | Side length of traingle Incircla
Screw compassion typa | Hightcut T 11 11 6.35
Diamater is used to indicate -
the handle of round knife 16 16 §.525
22 22 12.70

W24 7] /B S 4 i 35 PR

Preparation description for model of screw blade

#7515

Cutting diraction’

N

Internal thread R Left cut

i £ | Extzrnﬁﬁread | L ‘ Hﬁgjm

16 N R 1.75 1ISO

R ERS
== | 1. &l e s
= =Rk BIE Bl: 0.75=075mmlEE ISO=ISO K H @i
Code | Side length of traingle Incircle 2. 38: d0inch W=H s eEar
1 Bl B=Bi0/inch 180=150 metric thread

1 11 6.35 3. AGED: B0° FHEEE W=Whitworth thread

B - =1 1.Metric system:thread pitch
16 16 9.525 For instance: 0.75=0.75mm thread pitch

2 British systam: button/inch
22 22 12.70 For instanca: 8=8 button/inch

3. AGED: 60° thread pitch

hﬁps://www.@encerl.com ﬂ



W CERL 7 e

BMSNR/L BSUNR/L

Ve ™\
) . ) SUNRIL 15° Dmn@ARIAE N

SNR/L Dminf I TER [ T{ .

Threading tool )

HF
Wrench

4R 22

Lateral screw

71 £ Blade et 71 ¥ Blade

i & &5
f Ll H|« w" & ﬁ
SNR/L0007J08 9 7 | 53| 110| 15 | 6.4 SUNR/L0008K11U 11 8 6.1 125 15 7
08NR/LLIL] M2.2x 6 T6
SNR/L0008KO08 11| 8 |66 |125| 15 | 7 SUNR/L0O010K11U 11UNR 13 10 7.1 125 15 9 M2.5X6 T8
SNR/L0008K11 11 | 8 6 [125] 15 | 7 SUNR/LO012M11U 15 12 8.1 150 15 11
SNR/L0010K11 13 | 10 | 72 [125 | 18 | 9 SUNR/L0012M16U 16 12 9 150 25 11
SNR/L0012M1 1 1INR/LOIO 16 | 12 | 87 | 150 | 18 | 11 / M2.5x7 T8 SUNR/L0O013N16U 17 13 9.5 160 27 12
18UNR 15° M3.5X10 T15
SNR/L0O013M11 15 [ 13 | 8 |150 | 18 | 12 SUNR/LO014N16U 18 14 10 160 o7 13
SNR/L0016Q11 18 | 16 | 95 | 180 | 20 | 15 SUNR/L0O016Q16U 20 16 11 180 27 14.8
SNR/L0013N16 17 | 13 |10.2| 160 | 25 | 12 SUNR/L0O016Q22U 21 16 129 180 30 14.8
SNR/L0014N16 17 | 14 | 95 | 160 | 25 | 13 SUNR/L0020R22U 22UNR 25 20 14.3 200 30 18.4 M4.5X12 T20
SNR/L0016Q16 20 | 16 |11.5| 180 | 25 | 14.6 / M3.5x 10 T15 SUNR/L0025522U 30 25 16.8 250 30 23.4
SNR/L0018Q16 21 | 18 |11.5| 180 | 25 | 16.8 . — ABERSHEN, AEZEERIERES
& x
SNR/L0020R16 16NR/LOIO 24 | 20 | 135|200 | 28 |18.4
SNR/L0025516 29 | 25 | 16 | 250 | 32 |23.4 .SMT
SNR/L0032T16 36 | 32 |19.5| 300 | 38 | 30 STM1603R/
M3.5x12 T15 i
SNR/L0040T16 44 | 40 | 235|300 | 42 | 38 STM1603L SMT
SNR/L0O050U16 54 | 50 | 285|350 | 50 | 48
SNR/L0O020R22 24 | 20 |135| 200 | 32 |18.4
SNR/L0025522 31 | 25 | 18 | 250 | 32 | 234
STM22T3R/
SNR/L0032T22 22NR/LCIC] 38 | 32 |21.5| 300 | 38 | 30 M4.5x 14 Ti5
STM22T3L
SNR/L0040T22 46 | 40 | 255|300 | 42 | 38
SNR/L0050U22 56 | 50 |30.5| 350 | 50 | 48
MNR0032T27 ( BRFEHR ) 27NRIIC] 38 | 32 | 215|300 | 38 | 30 STM27T3 M6X15 L3/T20
AFZRSTAERN, TRERERIERES 0T chuls B ) B AR AT ek
Machining center single edge
L single tooth thread milling 3

71 B Blade ##& Specification S% F

crew Wrench

BB i po | L1 D L ﬁ
SMT12-12F11 1INR™ TN 1 8 61 | 125 T8
SMT18-20K16 138 | 10 | 71 | 125

16NR* 16N M3.5°8 T15
SMT25-25M16 15 | 12 | &1 | 150
SMT35-32522 22NR"* T22N" 16 | 12 9 | 150 Ms*12 T20

AEZHSHEH, TREZHERERES

126

125

https://www.wencerl.com https://www.wencerl.com




48 47 Z 7] Threading tool

0 B/ CERL

BSNR/L BSTTR/L

STTRL

i ; =

0°(7

SNRIL ’1_2; DminB/iIEE - H. S ~ | H ‘

|_¢a |

R G FT]

Threading tool

R ERELZE T

Threading tool

71 K Blade #1148 Specification e iRF

Screw Wrench .
Specification g wRF
® Hitg Sp Screw Wrench
q H a’ & ﬂ
& ‘ &
¢Dmin| ¢D f L L1 H a® & ﬁ
&S
T B S L gy [T
= : STTR/L0020Q16 25 20 | 145 | 200 | 26 | 184
SNR/LODOBMOB-A16 08NR/LCIC] 11 16 | 55 | 150 | 28 | 146 MZ2.5x6 T8
e — = T e T - — - STTR/L0025S16 TT32/RIL 30 25 | 175 | 250 | 30 | 234 M4 x 10 T15
SNR/LO012M11-A16 15 16 8.7 150 33 14.6 15° - STTR/L0032T16 38 32 22 300 35 30
SNR/LO013N16-A16 T6NR/LLIC] 17 16 10 | 160 | 33 | 146 M3.5x 10 Ti5 STTR/L0025522 — 31 25 18 | 250 | 32 | 234 . .
x
e TR me e e e Y INE BEiaE um
SNR/L0013N16-A16 T6NR/LLIC) 17 16 10 | 160 | 83 | 14.6 M3.5x 10 Ti5 HETTH UORRH i 3 O W O
ASEHENAN, TREREREREH HSTTR/L0025516 TT32RIL 30 25 | 175 | 250 | 30 | 234 M4 x 10 T15
HSTTR/L0032T16 38 32 | 22 | 300 | 35 30
HSTTR/L0025S22 a1 25 18 | 250 | 32 | 234
PBICNR/L TT43RIL M5 x 12 T20
HSTTR/L0032T22 39 32 | 225 | 300 | 38 30
" AFEZRETEN, AESHERERESH
CNRIL DminBITES WB_SER/L
3
L B-SER/L —
L QI

D"?;
4

Threading tool )

H®mE
Shim

g [ER DR RF

Screw Clamp Screw Wrench

715 Blade M #& Specification

SMEMRLIZET]

Threading tool
@ \.
i .@ £
¢ Dmin ‘I'.’ §
CNR/L0025516 29 | 25 | 16 | 250 | 32 |23.4 S | 48 24
CNR/L0032T16 1eNRILOD |36 82 [79.5[ 300 88 | 30 STMIB0RY| 1o MRIR 71 Blade H4& Specification e Lﬂf@ W*?efch
CNR/L0040T16 44 | 40 [ 236300 42 | 38 sTM1603L| OO Hi.EE5
CNR/L0050U16 54 | 50 [28.5] 350 | 50 | 48 &
CNR/L0025522 31 | 25 | 18 | 250 | 32 |23.4 LETE h b L L1 ht f @ &
CNR/L0032T22 soNRLOD |38 | 82 [21.5]300 | 88 [ 30 STM22T3R/ 10 o
CNR/L0040T22 46 | 40 [255] 300 | 42 | 38 STM22T3L MLEG B_SER/L1212H16 12 2 | 100 | 20 12 18
CNR/L0OS0U22 56 1 50 1905 350, 20 L 45 | 5 HL1808 L B-SER/L1616H16 16 | 16 | 100 | 20 | 16 | 20
HCNR/L0025516 29 | 25 | 16 | 250 | 32 | 23.4 ML618 L2.5 = 16ER/LOICI STM1603/| s e 40 | M3x8C Ti5
HCNR/L0032T16 16NRILODC | 36| 82 [19.5[300 [ 88 | 30 STM1603RY| 10 o g B-SER/L2020K16 20 20 | 125 | 22 20 25 |STM1603L
HCNR/L0040T16 44 | 40 [235]300| 42 | 38 STM1is03L| MLE22 B-SER/L2525M16 25 25 | 150 | 22 25 32
oL o aes o s 2 [ o0 [ | o [ w0 | s
HCNR/L0032T52 S 38 | 32 12151 300 | 38 | 30 STM22TAR| 0 1o MLE18 B-SER/L2525N22 22ER/LOI0CI 25 25 150 28 25 30 | STM22T3 | M4.5x12 | M3x8C T20
HCNR/L0040T22 46 | 40 [25.5]| 300 | 42 | as STM22T3L —p B-SER/L3232P22 32 32 | 170 [ 28 32 40
HCNR/L0050U22 56 | 50 |30.5] 350 | 50 | 48 ABEHENAN, TESEERFRES

AEZBESTEN, TEZHEEREREN

127 httpsi}/www.wencerl.com https:f/www.wencerl.com 128




SO I CERL [ e -

- ~\
SER/L SER/L
-
IMEIRLIZET) IMBIRLIZET]
Y Threading tool . Threading tool
vy
A e E 1 JER  IskiEss HF
. Blad % Spe 0 e 71 i Blade Clamp  Screw  Screw Wrench
De =) %
@ =
v h bl Lo | L1 | ont| i @ m«"’ a h b 2 hi f 'a & //s@
SER/L1010H11 70 | 10 | 100 | 16 | 10 | 12
SER1212H16-V 12 12 100 12 12
SER/L1212H11 AR 12 12 [ 100 | 16 12 ol | M2.5x6 —— T8
SER/L1616H11 TINR/LLIL 16 | 16 | 100 | 20 | 16 | 20 SER1616H16-V 16 16 100 16 e o
SER/L1212H16 12 [ 12 [ 100 [ 20 | 12 | 18 HL1808 | MI0520 L2.5
SER/L1616H16 16 | 16 | 100 | 20 | 16 | 20 TR SER2020K16-V 20 =0 125 20 20
SER/K2525M16 25 | 25 | 150 | 22 | 25 | 32 —
SER/L3232P16 32 | 32 | 170 | 25 | 32 | a2 KER1010H16-V MTTR32E H 10 10 100 10 10 M4X10
SER/L2020K22 20 | 20 | 125 | 26 | 20 | 32 —
SER/L2525M22 22ER/LCICI 25 | 25 | 150 | 26 | 25 | 82 | — | Aon S| M4S5x14 | M3xBC KER1212H16-V 12 12 100 12 12
ff;;{l—:g:ﬁ:? g: gg 1;3 gg gg gg KER1616H16-V 16 16 100 16 16 / / Ti5
MER3232P27 “lERtlI ST IR U e 111813 STM2704 | Max16 | M3xBC T1572013 KER2020K16-V 20 20 125 20 20
AEZHSHEE, TEZEERIFRESH KER2525M16-V 25 25 150 25 25
BCER/L SER2020K22-V 20 20 125 20 20
SER2525M22-V 25 25 150 25 25 HL1808 | MLO0520 LTg?s
7~ e SER3232P22-V 32 32 170 32 32
CER/L T — MTTR430 0 M4.5X12
KER2020K22-V 20 20 125 20 20
o
o KER2525M22-V 25 25 150 25 25 / / T20
1 Il KER3232P22-V 32 32 170 32 32
L1 SER2525M27-V-6 25 25 150 25 25
L | 27VER(/E £6.35)
SER3232P27-V-6 32 32 170 32 32
10° — SER2525M27-V-8 25 25 150 25 25 o
P 27VER(EREB.75) HL1813 / MBX16 B
= - SER3232P27-V-8 32 32 170 32 32
SMEIREZET) o SER2525M27-V-10 25 25 150 25 25
_ Threading tool ) 27VER(E[E10.2)
SER3232P27-V-10 32 32 170 32 32

71 B Blade #1#% Specification B EHR Nsge HmF

4 "~ A = . LY . - ‘4;
Shim Screw Clamp Screw Wrench ESBSAHNA, TRZEERIFREN

v h | b | L | L1 | ht| f \}“@ @
CER/L1616H16 16 | 16 | 100 | 20 16 | 20
CER/L2020K16 20 | 20 | 125 | 22 | 20 | 25

16ER/LOIC] STMIB0SR/ | s = 12
CER/L2525M16 25 | 25 [ 150 | 22 | 25 | 32 | STMI603L Ti5

HL1808 | ML0520

CER/L3225P16 32 32 | 170 | 25 382 | 32 L2.5
CER/L2525M22 25 | 25 [ 150 | 26 | 25 | 32

22ERLOIC STM2RTIRS | it ocid
CER/L3225P22 32 32 | 170 | 28 32 | 32 | STM22T3L

ABZASH RN, TEZHERERES

1 https://www.wencerl.com https://www.wencerl.com [[51




- AV

CERL

BICTTR/L
a X
CTTR/L
MRAELIZE T]
K Threading tool )

7] K Blade

h1

EHR
Clamp

=

RS

Screw

iF
Wrench

h | b | L |t | on| o @ f%
&

CTTR/L1010F16 10 10 90 20 10 12

CTTRIL1212H16 rrasERLLL L2 | 12 [0 [ 20 [ 2 [ 6 | . Tis
CTTRIL1616H16 16 | 16 | 100 | 20 | 16 | 20 L2.5
CTTR/L2020K16 20 | 20 | 125 | 22 | 20 | 25

CTTR/L2020K22 20 | 20 | 125 | 28 | 20 | 25 HL1808 MLO0520
CTTRIL2525M22 TT43ERACID | 25 | 25 | 150 | 30 | 25 | 32 | Ms5x12 Jg%
CTTR/L3232P22 32 | 32 | 170 | 30 | 32 | 40

AEZRSAEN, TESHERERES

BKTTXR

KTTXR

h1

ATTTEN

B2 47 ZE J] Threading tool

BSVNR

SVNR

MENRELET]
Vertical inner diameter
s Threading tool 4l

J1 K Blade

Dminf/MIZER

K& Specification

EHR
Clamp

WF
Wrench

‘ ®D F L 3 H @

SVNROO16N16 16 19 160 30 14.8
SVNR0020Q16 16VEL 20 23 180 30 18.4 M3.5X10 T15
SVNRO025R16 25 28 200 40 23.4 /
SVNRO0025R22 25 31 200 30 23 T20
SVNR0032T22 FEVEL 32 37 300 30 30 BNt
SVNR0032T27-6 32 39 300 35 30

27VEL(/F6.35)
SVNR0040T27-6 40 46 300 35 38 i
SVNRO0032T27-8 32 39 300 35 30 HL1813

27VEL 8.75 L3
SVNR0040T27-8 ki ) 40 46 300 35 38 Mex1e
SVNR0032T27-10 DTVEL(ER10.2) 32 39 300 35 30
SVNR0040T27-10 40 46 300 35 38

AFZESWEN, TEZHERFREH

L |

SRR ZET) ___

\_ Threadingtool ) |

i F
Wrench

1 #& Specification

131

KTTXR1010F16 10 10 90 20 10 12
KTTXR1212H16 TT32ER/LOC] 12 12 100 20 12 16 MEsih T8
KTTXR1616H16 16 16 100 20 16 20
KTTXR2020K16 20 20 125 22 20 25
KTTXR2020K22 20 20 125 28 20 b
KTTXR2525M22 TT43ER/LLCIC] 25 25 150 30 25 32 M5x12 T20
KTTXR3232P22 32 32 170 30 32 40

AEZNSAEN, TEZHERERES

-H&psé/‘/www;wéncérl.

com

h_ttps:,‘/)www.we_ncefl.com 132



1

\ §
\\::'__-..
~ .

JIRg ) &5

www.wencerl.com

BZQLILIR/L

Z2Q O0ORL

shiziE )

Slotting tool

S
Type

Z02525R/L-03

ZQ3225R/L-03

ZO1616R/L-04

Z02020R/L-04

Z02525R/L-04

Z0Q3225R/L-04

ZCQ2020R/L-05

Z02525R/L-05
Z0Q3232R/L-05

Z02525R/L-06

Z0Q3232R/L-06

ABEERETEN, TEEH

ZOMX2MN11-1E
SP200

ZOMX3N11-1E
SP300

ZOMX4N11-1E
SP400

ZOUMX5N11-1E
SP500

ZOMXEN11-1E
SPE00

ERERER

1J]¥& 71 Slotting tool

https://www.wencerl.com , [E¥S




B A CERL I ——— EIH) Seting o

FH ™M S 20201320320 2735 e
BMGEHR/L (] EMGEHR/L OO KR
d ) ( MGEHR/L \
MGEHR/L - 173
== (HEEIR) s
= = EL
INEFE T 2 SMEHE T
. Slotting tool y ——{ % Slotting tool 3
1 #% Specification 1 #& Specification
MGEHR/L1010-1.5 10 10 100 10 10 15 M4 x 16
L3
MGEHRIL1212-1.5 12 | 12 | 100 [ 12 | 12 | 15 | Max1e SRR LAl Sl B I
MGEHR/L1616-1.5 MGMN150—M 15 16 16 100 16 16 15 M5 x 20 L4
MGMN300-M
MGEHR/L2020-1.5 20 20 125 20 20 15 M6 x 20 i MGEHR/L2525-3T25 MGGN300-M 3 25 25 150 25 25 25
MGEHR/L2525-1.5 25 25 150 25 25 15 M6 x 20 MRMN300-M
MGEHR/L1010-2 10 10 100 10 10 16
M4 x 16 L3 o
GERFIL1212.5 i - o - = = MGEHR/L3232-3T25 32 < 170 32 32 25
MGEHR/L1616-2 MGMN200-M 2 16 16 100 16 16 16 M5 x 20 L4
MGEHR/L2020-2 20 20 125 20 20 16 it i MGEHR/L2020-4T30 20 20 125 20 20 30
x
MGEHR/L2525-2 25 25 150 25 25 16 M6 x 20 L5
MGEHR/L1616-2.5 16 16 100 16 16 17 M5 x 20 L4 MGMN400-M
MGEHR/L2525-4T30 MGGN400-M 4 25 25 150 25 25 30
MGEHR/L2020-2.5 MGMN250-M 25 20 20 125 20 20 17 MRMN400_M
M6 x 20 L5
MGEHR/L2525-2.5 25 25 150 25 25 17
MGEHR/L1212-3 MGMN300-M 3 12 12 100 12 12 20 M4 x 16 L3 MGEHR/L3232-4T30 32 32 170 32 32 30
MGEHR/L1616-3 3 16 16 100 16 16 20 M5 x 20 L4
MGEHR/L2020-3 MGMN300-M 3 20 20 125 20 20 20
MGGN300-M MGEHR/L2525-5T35 25 25 150 25 25 35
MGEHR/L2525-3 MRMN300—M 3 25 25 150 25 25 20 M6 x 20 L5 T
MGEHR/L3232-3 4 32 a2 170 32 32 20 mg‘rﬁ xggg:m 5
MGEHR/L1616-4 4 16 16 100 16 16 20 M5 x 20 L4 MGEHR/L3232-5T35 32 32 170 32 32 35
MGEHR/L2020-4 MGMN400-M 4 20 20 125 20 20 20
MGGN400-M R - -
MGEHR/L2525-4 MRMN400—M 4 25 25 150 25 25 20 M6 x 20 AEZHSAHN, TEISHEERFRES
MGEHR/L3232-4 4 32 32 170 32 32 20
MGEHR/L2020-5 5 20 20 125 20 20 25
MGMN500-M
MGEHR/L2525-5 MGGN500-M 5 25 25 150 25 25 25 M6 x 20
MRMN500-M
MGEHR/L3232-5 5 32 a2 170 32 32 25 L5
MGEHR/L2020-6 6 20 20 125 20 20 25
MGMNB00-M
MGEHR/L2525-6 MGGNG00-M 8 25 25 150 25 25 25 M6 x 20
MRMNB00-M
MGEHR/L3232-6 6 32 32 170 32 32 25
MGEHR/L2525-8 MGMN800-M 8 25 25 150 25 25 28
MGGN800-M M6 x 20
MGEHR/L3232-8 MRMNBO00-M 8 32 32 170 32 32 28

AFZERENEN, TEZHERFFEH

(85 https://www.wencerl.com https://www.wencerl.com &L




s Rl EIH) Seting o

BMCGWSR/L(FRZ=1EH) BR-MGEHR/L o EFIFER £F5: 20201320320 289.6

"

b

CGWSR/L R-MGEHR/L

@ s L | @ L i

—_ s
0 | o
SN EHE T ShZHE 7] z
. Slotting tool —1 % Slotting tool 3 5 —

1 #%& Specification 1 #& Specification
CGWSR/L1616-W20-L 2 16 16 100 16 | 16.23 | 20 M5 x 20 L4 MGEHR/L1616-2R —_—
CGWSR/L2020-W20-L WGE20 2 | 20 | 20 | 125 | 20 |2023| 20 MER S0 1 e B e e MBx20 =
M6 x 20 L5 MGEHR/L1616-2.5R — 25 16 16 100 16 16.3 | 34 M5 x 20 L4
SHOWERA 2aca-INe 0ol - o SRR BIAS S ER A MGEHR/L2020-2.5R 25 | 20 20 | 125 | 20 | 203 | 34 M6 x 20 L5
CGWSR/L1616-W30-L 3 16 16 100 16 | 1635 | 20 M5 x 20 L4 MGEHR/L1616-3R MGMNZ00 3 16 16 100 16| 16.35 | 40 M5 x 20 L4
CGWSR/L2020-W30-L WGES30 g 20 20 125 20 20.35 20 it MGEHR/L2020-3R 3 20 20 125 20 20.35 40 M6 % 20 L5
X = P S =
CGWSR/L2525-W30-L 3 25 25 150 25 | 2535 | 20 AEZSH LN, ARFRERFERES
CGWSR/L2020-W40-L o 4 20 20 125 20 205 | 23 L5
|
CGWSR/L2525-W40-L 4 | 25 | 25 | 150 | 25 | 255 | 23 | M6x20 B TTER/L (45 & 55 & )
CGWSR/L2525-W50-L WGE50 5 25 25 150 25 255 | 255 5 i
ABEEZREFEN, AEZSERIEREH TTER/L
d
-] I
M QE[IDR/L (¥R il & &)
QE[IDR/L
- © L '
=
e 3 Tmax
[ IMEHE T 5l
@ L ¢ \ Slotting tool )
— B Tmax _ 71 F Blade # 4% Specification
1582, :
otting too ) 1
TTER/L1212-2T17 3 12 12 100 12 122 17 M4 x 16 L3
Blade % Spe 0 i . TTER/L1616-2T17 DG 2 16 16 100 16 16.2 17 M5 x 20 L4
= TTER/L2020-2T17 2 20 20 125 20 | 202 17 — "
e - o b h L h o || s §) ﬁ TTER/L2525-2T17 2 25 25 150 25 | 252 | 17
TTER/L1616-3T20 3 16 16 100 16 164 | 20 M5 x 20 L4
QECD1616R/L15-2 - 2 16 16 | 100 | 16 | 162 | 15 M5 x 20 L4 J1ERLe0=0 o120 TRk 3 e B R L B M6 x 20 L5
QECD2020R/L15-2 ' 2 20 20 125 20 20.2 15 M6 x 20 TTER/L2525-3T20 3 =2 & a0 23N 23 AN el
QEFD2020R/L17-3 g 20 20 125 20 20.3 i TTER/L1616-4T25 4 16 16 100 16 16.5 25 M5 x 20 L4
QEFD2525R/L17-3 ZLIFDO3I 3 25 o5 150 25 25.3 17 L& TTER/L2020-4T25 TDC4 4 20 20 125 20 20.5 25
QEGD2020R/L22-4 S — 4 20 20 125 20 205 | =22 M6 x 20 TTER/L2525-4T25 4 25 25 150 25 | 255 | 25 o -
QEGD2525R/L.22-4 4 25 25 150 25 255 | 22 TTER/L2020-5T25 — 5 20 20 125 20 | 205 | 25
QEHD2525R/L22-5 ZJGDO50] 5 25 25 150 25 255 | 22 TTER/L2525-5T25 5 25 25 150 25 | 255 | 25
AEZTEF &N, AIEZEERIEREH ABZBEFNEH, TEZEERERE

(&M https://www.wencerl.com https://www.wencerl.com &




't)] % J] Slotting tool

B ' /CERL

—_ s I I
BKGMR/L(R&EER) WR/L123[] (1L 43 4 52 & &) o
- . i
p R/L123010] y
KGMR/L e 7
2/ =
=
= N
A 5
.y #h
T ; L |
o " | © _ .
S
b = a
—
1882 :
5‘"%%3‘] \_ otting tool . R ?
G Slotting tool
71 Blade
#M#%& Specification ’ W b h I8 h1 f |Tmax \\g—b ﬁ
RF123E17-1616B 2 16 16 | 100 | 16 | 162 [ 17 M5 x 20 L4
- RF123E17-2020B N123E20]0] 2 20 20 | 125 | 20 | 202 [ 17
M6 x 20 L5
RF123E17-2525B 2 25 25 | 150 [ 25 | 252 [ 17
KGMR/L1010F-1.5-85 1.5 10 10 85 10 | 102 | 20 T = RF123G20-1616B 3 16 16 | 100 | 16 | 162 | 20 M5 x 20 L4
x
KEMBL i 12Fo 15 8 O in o = E RF123G20-20208 N123G200] 3 20 20 | 125 [ 20 [ 202 [ 20 M6 20 s
GMM1520-MT RF123G20-2525B 3 25 25 | 150 [ 25 | 252 [ 20
KGMR/L1616H-1.5T15 1.5 16 16 100 | 16 | 163 | 30 M5 x 16 L4 RF123H25-1616B 4 16 16 | 100 | 16 | 162 | 25 M5 x 20 L4
RF123H25-2020B N123H2 4 20 20 | 125 [ 20 | 202 | 25
KGMR/L2020K-1.5T15 1.5 20 20 125 | 20 | 203 | 30 M6 x 20 L5 _— M6 x 20 L5
RF123H25-2525B 4 25 25 | 150 [ 25 | 252 | 25
KGMR/L1010F-2-85 GMM2020-MT 5 10 10 85 10 | 103 | 20 M4 x 12 T15 AESREALN, TESESERERE
KGMR/L1212F-2-85 — 2 12 12 85 12 | 123 | 25 M4 x 12 T15

GMM2020R/L-MT

KGMR/L1616H-2T17 2 16 16 100 16 16.3 35 M5 x 16 L4 .DGTR/LD D({ﬁwf—ﬁﬁﬂ) Diviax

KGMR/L2020K-2T17 2 20 20 125 20 203 | 35 sl
GMM2020-MT M5 x 20 L5 o
KGMR/L2525M-2T17 2 25 25 150 25 253 | 35 DGTR/LOIO
KGMR/L1616H-2.5T18 25 | 18 16 100 16 16.3 | 36 M5 x 16 L4 S
GMM2520-MT
KGMR/L2020K-2.5T18 25 | 20 20 125 20 203 | 36 M6 x 20 L5 =
KGMR/L1212F-3-85 3 12 12 85 12 124 | 25 M4 x 12 T15 —it
GMM3020-MT
KGMR/L1616H-3T20 3 16 16 100 16 16.4 | 40 M5 x 16 L4 L |
GMM3020R/L-MT @
KGMR/L2020K-3T20 3 20 20 125 20 204 | 40 M8 x 20 L5 .
o~
KGMR/L2525M-3T20 GMM3020-MT 3 25 25 150 25 254 | 40 a
IEFET]
KGMR/L2020K-4T20 4 20 20 125 20 204 | 40 b Slofting tool )
GMM4020-MT
KGMR/L2525M-4T20 4 25 25 150 25 254 | 40 M5 x 20 L5
KGMR/L2020K-5T25 5 20 20 125 20 205 | 50 AT
GMM5020-MT 71 K Blade ##& Specification
KGMR/L2525M-5T25 5 25 25 150 25 255 | 50
ABZRESTAN, THEBELEHEH —
DGTR1616-2T18 2
DGTR2020-2T18 DGN2202C 2 20 20 125 20 20.2 18 F— &8
DGTR2525-2T18 2 25 25 150 25 25.2 18 *
DGTR1616-3T20 3 16 16 100 16 16.2 | 20 M5 x 20 L4
DGTR2020-3T20 DGN3002C 3 20 20 125 20 202 | 20 ——— -
DGTR2525-3T20 3 25 25 150 25 252 | 25

ABZESH LN, TRZIFERIERE

139 httpsf//www.wencerl.com https://www.wencerl.com 140




s el EIH ) Seting o

WA4SMR/L(BE M1 EY) Dmax BMGYHR(=ZZH#ER) Dmax
A4SMR/L 1 ( GYHR
© . | »@!: L ‘
aERL s . ERRD e -

##& Specification ##& Specification

— w b h L h1 f |Tmax \S} ﬁ
&5
A4SMIVL2020K0317 A4GO300M3CIC] 2 LN B o B e GYHR1616H-2T18 2 | 16 | 16 | 100 | 16 | 162 | 18 | 50 | M5x20 L4
A4SMR/L2525K0317 A CUSOEMATIT] 3 25 25 | 150 | 25 | 253 | 17 GY2M0200F F-MM
A4SMR/L3232P0317 3 32 32 170 32 32.3 i GYHR2020K-2T18 2 20 20 | 125 | 20 | 202 | 18 60
A4SMR/L2020K0417 A4GOA0OMALIL] 4 20 20 | 125 | 20 | 208 | 17 SO0 T s L m | = = =l | 0
A4SMR/L2525M0417 ACOANERATTE] 4 25 25 | 150 | 25 | 258 | 17 M6 x 20 L5 GY2M0300H H-MM
A4SMR/L3232P0417 4 32 32 | 170 | 82 | 823 | 17 GYHR2525M-3T20 3 | 25 | 25 | 150 | 25 | 252 | 20 | 80 o 20 s
x
ol AGOS00MSCIC] sl e R GYHR2020K-4T25 4 | 20 | 20 [ 125 | 20 202 | 25 | 60
A4SMR/L2525M0520 AGO505M5L 1L 5 25 25 150 25 25.3 20 GY2M03000 O-MM
A4SMR/L3232P0520 5 32 32 | 170 | 32 | 323 | 20 GYHR2525M-4T25 4 | 25 | 25 | 150 | 25 | 252 | 25 | 80
AEZRSTHN, THRIEHERFRES GYHR2525M-5T25 GY2M020000-MM | 5 | 25 | 25 | 150 | 25 | 252 | 25 | 80
i AEZHEFEH, IBRFEERIFIREH
BMGNDLR/L(f & & 8) Dmax
=
-
GNDLR/L

o L

% =z
g l::;{%r%tgl | ,i [

[ o |

Rk RF
Screw Wrench

G | w | b [ h| L[ ht | |Tmax] S
GNDLR/L2020K-216 2 20 20 125 20 20.3 16
GNDLR/L2525M-216 GCMN2002-GG 2 25 25 150 E 25.3 16
GNDLR/L3232P-216 2 32 32 170 32 32.3 16
GNDLR/L2020K-320 3 20 20 125 20 20.3 20
GNDLR/L2525M-320 GCMN3002-GG 3 25 25 150 25 25.3 20 M6 x 20 L5
GNDLR/L3232P-320 3 32 32 170 32 32.3 20
GNDLR/L2020K-425 4 20 20 125 20 20.3 25
GNDLR/L2525M-425 GCMN4002-GG 4 25 25 150 25 25.3 25
GNDLR/L3232P-425 4 32 32 170 32 32.3 25

AEZHSHENH, TEZHSERERES

141 httpsﬁ//www.wencerl.com https://www.wencerl.com  [U&&




— CERL T 1187 Soting oo

3
BMGEVR/L BEMGEURGEZI#E M I A)
MGEVR/L MGEUR
HO) 8
/" 45°
% o
v '
INEIET] SMEIE T N
Slotting tool Slotting tool 2 L;
K Y. '
7] B Blade 71k Blade
MGEVR/L1616-1.5 15 16 16 100 16 | 213 5 M5 x 20 L4 MGEUR2020-2 MGMN200-M 2 20 20 125 16 16.2
MGEUR2525-2 2 25 25 150 20 20.2
MGEVR/L2020-1.5 MGMN150-M 1.5 20 20 125 20 26.3 6 M6 x 20 =
S s g T e o e . o e S VR T
MGEVR/L2525-1.5 1.5 25 25 150 25 33 6 M6 x 20 = :
MGEUR2020-4 — 1 20 20 125 20 20.2
MGEVR/L1616-2 2 16 16 100 16 21.3 5 M5 x 20 L4 MGEUR2525-4 K 4 25 25 150 25 25.2
MGEVR/L2020-2 MGMN200 2 20 20 125 20 26.3 6 M6 x 20 i AEZBEFEN, AIESEERIERES
MGEVR/L2525-2 2 25 25 150 25 33 6 M6 x 20
MGEVR/L1616-2.5 25 | 16 | 16 | 100 | 16 | 213 | 5 M5 x 20 L4 BSGBL][IR/L
MGEVR/L2020-2.5 MGMN250 25 20 20 125 20 26.3 6 M6 x 20 s
25 ! 1 M 4 il
MGEVR/L2525-2.5 25 25 25 50 25 33 7 6 % 20 SGBICIRIL
MGEVR/L1616-3 3 16 16 100 16 24 7 M5 x 20 L4
MGEVR/L2020-3 MGMN300 3 20 20 125 20 26.5 6 M6 x 20 i =
MGEVR/L2525-3 3 25 25 150 25 33 7 M6 x 20 _
MGEVR/L1616-4 4 16 16 100 16 21.3 7 M5 x 20 L4 Y
MGEVR/L2020-4 MGMN400-M 4 20 20 125 20 26.3 6 M6 x 20
MGEVR/L2525-4 4 25 25 150 25 33 7 M6 x 20 ‘i
MGEVR/L1616-1.5T8 MGMN150 1.5 16 16 100 16 24 8 M6X18
MGEVR/L1616-2T10 & 16 16 100 16 26 10 M6X18 =
MGEVR/L2020-2T12 MGMN200 2 20 20 | 125 | 20 32 12 M6X20 glj:t’f rﬁ?& ; T
MGEVR/L2525-2T15 2 25 25 150 25 40 15 MBX20 Ui = /
MGEVR/L1616-3T10 3 16 16 100 16 26 10 M6X18
7] i Blade 1 #& Specification | F
MGEVR/L2020-3T12 MGMN300 3 20 20 125 20 32 12 MBX20 Wrench
MGEVR/L2525-3T15 3 25 25 150 25 40 15 M6X20 &
f &
MGEVR/L1616-4T10 4 16 16 100 16 26 10 M6X18 €
MGEVR/L2020-4T12 MGMN400 4 20 20 125 20 32 12 MBX20 SGBR/L1616H16 AnED 20
SGBR/L2020K16 GBR/L32 0.33-25 | 20 20 125 26 20 25 M4 x 10 T15
MGEVR/L2525-4T15 4 25 25 150 25 40 15 MeX20 SGBR/L2525M16 03325 25 25 150 26 25 32
e _ . _ SGBR/L1616H22-1 GBR/L43125-185 1.25-1.85 16 16 100 26 16 20
AEZREFZN, AESSEREREH SGBR/L1616H22-2 GBR/L43200-280 2.0-2.8 16 16 100 26 16 20 M5 x 12 T20
SGBR/L1616H22-3 GBR/L43300-450 3.0-4.5 16 16 100 26 16 20
SGBR/L2020K22—1 GBR/L43125-185 1.25-1.85| 20 20 125 26 20 25
SGBR/L2020K22-2 GBR/L43200-280 2.0-2.8 | 20 20 125 26 20 25
SGBR/L2020K22-3 GBR/L43300-450 3.0-45 | 20 20 125 26 20 25 i e
SGBR/L2525M22-1 GBR/L43125-185 1.25-1.85 25 25 150 26 25 e
SGBR/L2525M22-2 GBR/L43200-280 2.0-28 | 25 25 150 26 25 32
SGBR/L2525M22-3 GBR/L43300-450 3.0-45 | 25 25 150 26 25 32

AFERETMEN, TEZHEERIEHFES

(EX  https://www.wencerl.com https://www.wencerl.com [&&;




=1

BCGBLILIR/L

CGB[J[R/L

P28 7]
- Slotting tool

71K Blade

h1

EFH =S 55 202013 2 0320 273.5

1

##& Specification

CHEHR w2

Clamp

Whiges

Screw Screw

wF
Wrench

7] B Blade

1 #% Specification

&) ﬁ
b w b | h [ L [t |n| ¢ @ /ﬁ
CGBR/L1616H16 0525 16 | 16 | 100 | 22 | 16 | 20 =
CGBR/L2020K16 GB32RIL 0525 20 | 20 | 125 | 26 | 20 | 25 M4 x 10 e
CGBR/L2525M16 0525 25 | 25 | 150 | 26 | 25 | 32 :
CGBR/L1616H22—1 GB43R/L125-185 [1.25-1.85] 16 | 16 | 100 | 26 | 16 | 20
CGBR/L1616H22-2 GB43R/L200-280 | 2.0-2.8 | 16 | 16 | 100 | 26 | 16 | 20
CGBR/L1616H22-3 GB43R/L300-450 | 3.0-4.5 16 16 100 26 16 20
CGBR/L2020K22-1 GB43R/L125-185 |1.25-1.85] 20 | 20 | 125 | 26 | 20 | 25 | H-1808 MLO520 20
CGBR/L2020K22-2 GB43R/L200-280 | 2.0-2.8 | 20 | 20 | 125 | 26 | 20 | 25 M5 x 12 B
CGBR/L2020K22-3 GB43R/L300-450 | 3.0-4.5 | 20 | 20 | 125 | 26 | 20 | 25 :
CGBR/L2525M221 GBA43R/L125-185 [1.25-1.85| 25 | 25 | 150 | 26 | 25 | 32
CGBR/L2525M22-2 GB43R/L200-280 | 2.0-2.8 25 25 150 26 25 32
CGBR/L2525M22-3 GB43R/L300-450 | 3.0-4.5 25 25 150 26 25 32
AEZBSH AN, IESEERERESH
=
KTGFR/L
HpMEFE T
- Slotting tool
BT

Wrench

b w b h L hi f L1 @;@ ﬂ}
KTGFR/L1616H-16F 16 16 | 100 | 16 16 22
KTGFR/L2020K—16F 20 20 | 125 | 20 20 26
KTGFR/L2525M—16F 0.75- [ 25 25 | 150 | 25 25 26

TGF32RIL M4 x 10 Ti5
KTGFR/L1616H-16 30 | 186 16 | 100 | 16 20 22 *
KTGFR/L2020K-16 20 20 | 125 | 20 25 26
KTGFR/L2525M—16 25 25 | 150 | 25 32 26
KTGFR/L1616H-22 16 16 | 100 | 16 20 27
KTGFR/L2020K-22 TG43RIL 1'422' 20 20 | 125 | 20 25 27 M5 x 12 T20
KTGFR/L2525M-22 ‘ 25 25 | 150 | 25 3 27

ABZHSTH LN, TEZHERFREH

145 httpsiﬁwww.wencerl.com

| CERL I

YI#& 7] siotting tool

BCTGFR/L

CTGFR/L

Sp g )
Slotting tool

=5 £5S. 202013 2 0320 275.4

F

Screw  Wrench

CTGFR/L1616H-16F 16 | 16 | 100 | 16 | 16 | 22
CTGFR/L2020K-16F 20 | 20 | 125 | 20 | 20 | 26
CTGFR/L2525M—16F rorsmy |75 25 | 25 [ 150 | 25 | 25 | 26
CTGFR/L1616H-16 ag | 16 | 16 | 100 | 16 | 20 | 22
CTGFR/L2020K-16 20 | 20 | 125 | 20 | 25 | 26
CTGFR/L2525M—16 25 | 25 | 150 | 25 | 32 | 26
CTGFR/L1616H-22 16 | 16 | 100 | 16 | 20 | 27
CTGFR/L2020K-22 TG43RIL 1fg‘ 20 | 20 | 125 | 20 | 25 | 27
CTGFR/L2525M-22 ' 25 25 150 25 32 27

HL1808

M4 x 10

T15
L2.5

ML0520

M5 x12

T20
L2.5

ABEZRSHEN, TRIZHERIFFES

BMPCHR/L

'\
PCHR/L
Y
SMEET]
B Slotting tool p
HF
71 i Blade Wrench
* b h L L f §' ﬂ
PCHR/L16-24 16 16 100 26 16.6
PCHR/L20-24 PENTA24N239J015 20 20 125 26 20.6 M4.5x 10 T20
PCHR/L25-24 25 25 150 26 25.5

AFXRSWAEN, TEZHERIERES

https://www.wencerl.com 146



s el 1) Seting o

BSVQBR/L BSGESR

'3 N T g
SVQBR/L SGESR
IEFT]

10°

EFMEFETRIEE

IMEIE T
Slotting tool iy

SpE1E T
. Slotting tool

L3 R F

7] /5 Blade 1% Specification

Screw Wrench
71 Blade
I SGESR1616H-D 16 16 100 16 16 5
SVOBRIL2020K1 5= 20 - o 20 - SGESR2020K-D GEROO-D 20 20 125 20 20 5 M3X8 T8
FB16040 0 SGESR2525M-D 25 25 150 25 25 5
SVQBR/L2525M16-NJ 25 25 150 25 29 ATEETEH, TEFEERIERES
M4 x 10 T15
SVQCR/L2020K16-NJ 20 20 125 20 24
FC16040 0
SVQCR/L2525M16-NJ 25 25 150 25 29
AFEZREREN, AIESFSERIEREH
\
COOOSR/L
\ )
SGEL J
SMEIE T
Slotting tool 3
S 7)
ks Slotting tool
Specification gLl
71 F Blade ##% Sp Screw Wrench
KTGFSR/L1010H-16
h b L H F | Tmax %dﬁd{gl §@ y/@ KTGFSR/L1212H-16 Hee | 12 12 100 12 16 16
© KTGFSR/L1616H-16 TGF32RIL e 16 16 100 16 20 o5
SGEL1616H-D 16 16 100 16 16 5 10 KTGFSR/L2020K-16 - 20 20 125 20 25 26 T -
SGBSR/L1616H-16 16 16 100 16 20 22
SGEL2525M-D 25 25 150 25 25 5 10 0.33-
ST D GEROO-D 6 6 00 ' = = =a M3X8 T8 SGBSR/L2020K-16 GBA32R/L 5o 20 20 125 20 25 26
SGEL2020K-D_F 20 20 125 20 20 = 10 SGBSR/L2525M-16 25 25 150 25 32 26
SGEL2525M-D-F 25 25 150 25 25 5 10 AFEZRETAN, ATESFERIEREH

AFEZESH AN, TEZHERIFRES

B | https://www.wencerl.com https://www.wencerl.com &




1J]1& 7] Slotting tool

B & CERL

BOOOSR/L EF=R £51S: 202013 20320 275.4 BSTEPR

CICICSR/L

1

STFPR

¢ D Max

& D min

D min

THNEZERE
D max
o =1 7] 5\ i TE 1 7]
Slotting tool Outer end groove cutter

h A

CRIER e W4 {F
71k Blade Clamp Screw Screw Wrench

71 K Blade #1F& Specification Wgee HwF

Screw Wrench
3 ﬁ
A w blh|L|m|f || &) | & ﬁ =
Tmax @?’“ ﬂ
CTGFSR/L1616H-16 16 | 16 | 100 | 16 | 16 | 22 &
CTGFSR/L2020K-16 TGF32R/L 0.75-3.0| 20 | 20 [125 [ 20 | 20 | 26
STFPR2020K09-R40 TPLI1090201(] 205 | 20 20 125 80 500 32 M2.5 %6
CTGFSR/L2525M-16 25 | 25 [ 150 | 25 | 25 | 26 T15 -
HL1808 | M4x10 | MLO520
CGBSR/L1616H-16 16 | 16 | 100 | 16 | 20 | 22 L25 STFPR2020K11-R40 TPOIO41030100 207 | 20 20 125 80 500 a7 M3x8
CGBSR/L2020K-16 GBA32R/L 0.33-3.0| 20 | 20 | 125 | 20 | 25 | 26
CGBSR/L2525M-16 25 | 25 |150 | 25 | 32 | 26 ABEZRSHAEN, JEZEERIERTH
AFEZRETEN, TEZHEREREH
HESPB ESMGB226 ERIRF 7S ZL 2022 2 2300902.X
-~ B e
SPB SMGB
- T = - - =
L L
. g | -
18 T4 i s
\_ Cutting blade 5 \_ utting blade E
7] B Blade ##& Specification 7] F Blade # & Specification \r‘\??éih
SPB226 SP200,200R/L 2 1.6 26 26 21 SMGB226 26 110 21
SPB326 ZQM % 3N-11-1E SP300,300R/L 3 2.4 26 26 21 CHz MGMN200 2 2.4 a5 e e
SPB426 ZQM x 4N—11-1E SP400,400R/L 4 3.2 26 26 21 e = 0 -
SPB526 ZQM x 5N—-11-1E SP500,500R/L 5 42 26 26 21 MGMN300 3 16 DB-L5
SPB232 SP200,200R/L 2 16 32 32 25 SWEEe-e = 10 =
= SMGB426 26 110 21
SPB332 ZQM x 3N—11-1E SP300,300R/L 3 2.4 32 32 25 CEMRANA n -
SPB432 ZQOM x 4N—11-1E SP400,400R/L 2 3.2 32 32 25 SMGB432 32 150 25
SPB532 ZQM x 5N—11-1E SP500,500R/L 5 4.2 32 32 25 - . - _
B AFEZBRETEH, TEZBEEREREH
SPB632 ZQM x 6N—11-1E SP600,600R/L 6 52 32 32 25

ABZESTEN, AEZEERIERES

httpsﬁ}/www.wencerl.com https://www.wencerl.com [UEL




1J]1& 7] Slotting tool

cRLEEL

BSSACN BSTACR/L

F I
{ SSACN 1 STACR/L

Tmax

¢ D Max

& D min

TIIEEZEE
SN T 7] 2=, - -

he Outer end groove cutter 5

I 223 | F
#1#& Specification Screw Wrench

71 K Blade #1#% Specification e ¥

Wrench
q h b L L1 f &gﬁ ﬁ
&
STACR2020K06 20 20 125 20 20 20.3
TBGT060102 M2.2X6 T6
SSACN2020K09-R35 iy 10 20 20 125 80 500 35 — i STACR2525M06 25 25 150 20 25 25.3
x
SSACN2525M09-R40 125 | 25 | 25 | 150 | 80 | 500 | 40 STACR2020K09 TC090200 = =0 b 23 at £ 5
—— T STACR2525M09 25 25 150 23 25 25.3
AEZRETFEN, ABEZEEERERESN M2.5X7 T6
STACR2020K11 20 20 125 25 20 20.3
TCO110200
STACR2525M11 25 25 150 25 25 25.3
ABEZHEREN, IREZFFERERES
al e ke ;
STC SRAPR = L1
& " s !
ax | e
ik Y R | e
Q) ¢ D min
| .
I
| B
TNERER - TIIEZEE - SRAPL2020K10T3-60/200-T40 it o
e EHAERA e =
S i T HE 71 E— — iy T 4 7]
s Outer end groove cutter y = End slot cutter

151

71 K Blade #1#% Specification

= SRAPR/L2020K10T3-30/200-T20 158 | 20 | 20 | 125 | 30 | 200 | 20

STC20K09R40-80/150-LR TCOI0902010) 10 20 20 | 125 | 80 80 40 SRAPRA2020KINTS-50/200-T40 RP10T3 188 Il = I 2 M3.5X10
SRAPR/L2525M10T3-30/200-T20 208 | 25 25 | 150 | 30 | 200 | 20
STC20K11R40-80/150-LR TCOO1102000] 10 | 20 | 20 | 125 | 80 | 80 | 40 V257 e T LT T e T T T T s

: - T15

STC25M09R40-80/150-LR TCOII0902010] 126 | 25 | 25 | 150 | 80 | 80 | 45 SRAPR/L2020K1204-30/200-T20 15 | 20 20 | 125 | 30 | 200 | 20

STC25M11R40-80/150-LR TCOO1 10200 125 | 25 25 150 80 80 45 SRAPR/L2020K1204-50/200-T40 RP1204 15 20 20 125 50 200 40 MAX10
e - s SRAPR/L2525M1204-30/200-T20 20 | 25 25 | 150 | 30 | 200 | 20
AESRSTAEE, TEEEERFREH SRAPRIL2525M1204-50/200-T40 20 | 25 25 | 150 | 50 | 200 | 40

https://www.wencerl.com

AEZBSHEN, TERIFERERES

https://www.wencerl.com

152




1J]1#& 7] Slotting tool

BE @ CERL

~ T
MGFVR/L FGHH
= <
/ L
v A . |
o o
i T 4 7D Uiy TET 1 7
L End slot cutter J \ End slot cutter 1
iR ¥ 7] 7 Blade Specification
Wrench Fr AR Sp
/ f b=h1 h L Min | Max | Tmax \§_® ﬁ
MGFVR320-24/36-T13H 33 20 20 125 24 36 13 FGHH320-25/35 20.6 20 20 125 25 35 10
MGFVR325-24/36-T13H 38 25 25 150 24 36 13 FGHH320-35/48 20.6 20 20 125 35 48 12
MGFVR320-30/50-T15H 35 20 20 125 30 50 16 FGHH320-48/66 20.6 20 20 125 48 66 13
FGD300R-03
MGFVR325-30/50-T15H 40 25 25 150 30 50 15
FGHH320-64/100 20.6 20 20 125 64 100 15
MGFVR320-55/80-T15H 35 20 20 125 55 80 15
MGMN300-] FGHH320-98/160 20.6 20 20 125 98 160 17
MGFVR325-55/80-T15H 40 25 25 150 55 80 15
FGHH320-160/300 20.6 20 20 125 160 300 20
MGFVR320-80/160-T15H 35 20 20 125 80 160 15
MGFVR325-80/160-T15H 40 25 25 150 80 160 15 EaHbas0 25 A i = 1&3 2 i i
MGFVR320-160/400-T15H 35 | 20 | 20 | 125 | 160 | 400 | 15 Bl h Sl (N | L
MGFVR325-160/400-T15H 40 25 25 150 160 400 15 FGHH420-48/66 20.6 20 20 125 48 66 13
M6 x 20 L5 FGD400R-04 M6 x 20 L5
MGFVR420-24/36-T13H 33 20 20 125 24 36 13 FGHH420-64/100 20.6 20 20 125 64 100 15
MGFVR425-24/36-T13H 38 25 25 150 24 36 13 FGHH420-98/160 20.6 20 20 125 98 160 20
MGFVR420-30/50-T15H 35 20 20 125 30 50 15 FGHH420-160/300 20.6 20 50 125 160 300 20
MGFVR425-30/50-T15H 40 25 25 150 30 50 15
FGHH520-25/35 20.6 20 20 125 25 35 12
MGFVR420-55/80-T15H 35 20 20 125 55 80 15
MGMN400-[] FGHH520-35/48 20.6 20 20 125 35 48 15
MGFVR425-55/80-T15H 40 25 25 150 55 80 15
FGHH520-48/66 20.6 20 20 125 48 66 17
MGFVR420-80/160-T15H 35 20 20 | 125 | 80 | 160 | 15 FGD500R-04
MGFVR425-80/160-T15H 40 25 25 150 80 160 15 Plab laci -Gy 206 20 20 125 b4 100 20
MGFVR420-160/400-T15H 3 | 20 | 20 | 125 | 160 | 400 | 15 FEHH520-08/160 208 | 20 | 28 | 125 | Ba | 14 | A
MGFVR425-160/400-T15H 40 25 25 150 160 400 15 FGHH520-160/300 20.6 20 20 125 160 300 25
AEZHESFEN, AIESEERIERES AFEZRSWEE, TEZFEERIFRES

153 VHttps://www.we'nce'rl.com Vhttpsi,‘//www.wéncérl.com 154




1J]1& 7] Slotting tool

& N
MGHH
= = =
L
| |
| E=] Ee]
ihE T s 1 1 7]
R End slot cutter y. \ End slot cutter )
Specification oL HwF Specification gee HwF
71 B Blade 1% Sp o Wrench 7] r Blade 4% Sp Screw Wrench
’ ’ f b=h1 h L Min | Max | Tmax &% ﬁ
\\‘\s,
MGHH216R06-20/30 16.6 16 16 100 20 30 6 MGHH420R-24/36 20.6 20 20 125 24 36 13
MGHH216R08-30/50 16.6 16 16 100 30 50 8 M5X18 L4 MOHHAZER_24/36 256 a5 a5 160 o4 6 13
MGHH216R08-50/80 16.6 16 16 100 50 80 8 e a0 s S . . o = e 7
il e MGMN200-] = =0 £ = = = s MGHH425R-35/48 25.6 25 25 150 35 48 13
MGHH220R08-30/50 20.6 20 20 125 30 50 8 - -
MGHH220R06-E0/80 206 50 =0 125 50 20 P MGHH425R-36/48-T25 26 25 25 150 36 48 25
MGHH225R08-50/80 5.6 25 25 150 50 80 8 MGHH425R-48/60-T25 26 25 25 150 48 60 25
MGHH225R08-80/120 25.6 25 25 150 80 120 8 MGHH420R-48/66 20.6 20 20 125 48 66 17
MGHH320R-24/36 206 ) 20 20 125 | 24 =6 13 MGHH425R-48/66 256 | 25 25 150 | 48 66 17
MGHH325R-24/36 25.6 25 25 150 24 36 13 A R e T o = o - 5 o
MGHH320R-35/48 20.6 20 20 125 35 48 13 TR = = - = = = i
MGHH325R-35/48 25.6 25 25 150 35 48 13 - :
MGHH325R_36/48-T25 26 25 25 150 36 28 o MGHH425R-55/80-T25 26 25 25 150 55 80 25
MGHH325R-48/60-T25 26 25 o5 150 48 60 o5 MGHH420R-64/100 20.6 20 20 125 64 100 17
MGHH320R-48/66 20.6 20 20 125 48 66 17 MGHH425R-64/100 25.6 25 25 150 64 100 17
MGHH325R-48/66 256 | 25 25 150 | 48 66 17 MGHH425R-64/100-T25 i - 26 25 25 | 150 | 64 100 | 25
MGMN400—

Mk el R 208 - e ie 2 e i MGHH420R-80/120 20.6 20 20 125 80 120 17
MGHH325R-55/80 25.6 25 25 150 55 80 i

MGHH425R-80/120 25.6 25 25 150 80 120 17 MBX20 L5
MGHH325R-55/80-T25 26 25 25 150 55 80 25
MGHH320R—64/100 206 | 20 20 | 125 | 64 100 17 MEX20 L5 MGHH425R-80/120-T25 £ =2 = | k||
MGHH325R-64/100 25.6 25 25 150 64 100 17 MGHH420R-98/160 20.6 20 20 125 98 160 17
MGHH325R-64/100-T25 MGMN300-1 26 25 25 150 64 100 25 MGHH425R-98/160 25.6 25 25 150 98 160 17
MGHH320R-80/120 20.6 20 20 125 80 120 17 MGHH425R-98/160-T25 26 25 25 150 98 160 25
utlealic el o B ORI I T O O MGHH425R-100/200-T25 26 | 25 | 25 | 150 | 100 | 200 | 25
MGHH325R-80/120-T25 26 25 25 150 80 120 25

MGHH420R-120/200 20.6 20 20 125 120 200 17
MGHH320R-98/160 20.6 20 20 125 98 160 17
ST e o e e s e o = MGHH425R-120/200 25.6 25 25 150 120 200 17
MGHH325R-100/200-T25 26 25 25 150 100 200 25 MGHH425R-160/400 25.6 25 25 150 160 400 17
MGHH320R-120/200 20.6 20 20 125 120 200 17 MGHH425R-160/400-T25 26 25 25 150 160 400 25
MGHH325R-120/200 256 | 25 26 | 180 | 120 | 200 | 17 MGHH425R-200/800 256 | 25 25 | 150 | =200 | 800 | 17
MGHH320R-160/400 20.6 20 20 125 160 400 17

MGHH425R-200/800-T25 26 25 25 150 200 800 25
MGHH325R-160/400 25.6 25 25 150 160 400 17
MGHH325R-160/400-T25 26 25 25 150 160 400 25 MG el b BHId £a e & 156 o ol -
MGHH325R—-200/800 25 5 25 a5 150 200 800 T MGHH525R20-80~160H MGMN500-[] 256 25 25 150 80 160 20
MGHH325R-200/800-T25 26 25 25 150 200 800 25 MGHH525R20-160~400H 25.6 25 25 150 160 400 20

AFEZRSTEN, AREZSEERIFERES AEZUSA AN, IEZFERERES

i8] https://www.wencerl.com https://www.wencerl.com [k




B8 @ CERL

1J]1& 7] Slotting tool

QFFD/QFGD - QFHD/QFHS 3
QFKD/QFKS
& D Max . & Dﬂax
% -
& D min D min '
|
|
Al £ :"+ a A
TNE#EE | TAEREE "‘
r— A
i T A 7] J o
i & 7]
End slot cutter =
N - End slot cutter .
71} Blade M #& Specification 2 wF et oo 8L FFE
Wrench 71 Fy Blade K& Sp Screw Wrench
$D &
ek L i W Tmax | ey & hxb | L | | w |Tmax| _®D ‘?&@
ZOS0RULT-A8H il Ll el 2 4 i 2525R/L13-58H 25x25 | 150 | 26 | 5 | 13 | 58-96
2020R/L10-48H 20%20 150 | 21 3 10 | 48-66
T T e 5 o 2525R/L22-58H 25x25 | 150 | 26 5 22 | 58-96
2525R/L17-48H 25 % 25 150 26 3 17 4866 2525R/L13-86H 25x25 | 150 26 5 13 86-140
2020R/L7-60H 20x20 150 21 3 7 60-80 2525R/L22-86H 25x25 | 150 | 26 5 22 | 86-140
2020R/L10-60H 20x20 150 | 21 3 10 | s0-80 QFHD ZTHDO0504-MG
2525R/L13-130H 25%25 | 150 | 26 5 13 | 130-200 | GB70-85-M6x20
2525R/L10-60H 25x 25 150 | 26 3 10 | 60-80
———— et b 3 = 2525R/L22-130H 25%25 | 150 | 26 5 22 | 130-200
QFFD ZTFDO0303-MG
2020R/L7-74H 20%20 150 | 21 3 7 | 74100 2525R/L13-185H 25%25 | 150 | 26 5 13 | 185-400
2020R/L10-74H 20%20 150 | 21 3 10 | 74-100 2525R/L22-185H 25x25 | 150 | 26 5 22 | 185-400
2525R/L10-74H 25x 25 150 26 3 10 | 74-100 WH50L
QFHS 2525R/L30-185H ZTHS0504-MG 25x25 | 150 | 26 5 | 30 | 185-400
2525R/L17-74H 25% 25 150 | 26 3 17 | 74-100
S OPOERILT_ 100 20 <20 ol 3 = 100150 2525R/L13-60H 25x25 | 150 | 26 6 13 | 60-100
2020R/L10-100H 20%20 150 | 21 3 10 |100-150 2525R/L22-60H 25x25 | 150 | 26 6 | 22 | 60-100
2525R/L10-100H 25% 25 150 | 26 3 10 |100-150 SEBERIL 586K e - 2= Pastean
2525R/L17-100H 2525 150 26 3 17 [100-180| poo ac QFKD ZTKD0608-MG
~997 | wWHSsO0L 2525R/L22-88H 25x25 | 150 | 26 6 | 22 | 88-180 | GB70-85-M6x20
2020R/L10-52H 20x20 150 | 21 4 10 | 5e-72 | M6x20
PEEERI S EEH T e B 7 T 2525R/L13-160H 25%25 | 150 | 26 6 13 | 160-400
2020R/L15-52H 20%20 150 | 21 4 15 | 5272 2525R/L22-160H 25x%25 | 150 | 26 6 | 22 | 160-400
2525R/L22-52H 25x25 150 | 26 4 22 | 8272 QFKS 2525R/L30-160H ZTKS0608-MG 25x25 | 150 | 26 | 6 | 30 | 160-400
2020R/L10-64H 20 %20 150 | 21 4 10 | 64-100 o —— =
AFZESAEE, ESFHERIERES
2525R/L13-64H 25x 25 150 | 26 4 13 | 64-100
2020R/L15-64H 20%20 150 | 21 4 15 | 64-100
2525R/L22-64H 25% 25 150 | 26 4 22 | 64-100
QFGD ZTGD0404-MG
2020R/L10-90H 20%20 150 | 21 4 10 | 90-140
2525R/L13-90H 25x 25 150 | 26 4 13 | 90140
2020R/L15-90H 20 % 20 150 | 21 4 15 | 90-140
2525R/L22-90H 25%25 150 | 28 4 22 | 90-140
2020R/L10-130H 20% 20 150 | 21 4 10 |130-230
2525R/L13-130H 25% 25 150 | 26 4 13 [130-230
2020R/L15-130H 20% 20 150 | 21 4 15  |130-230
2525R/L22-130H 25x 25 150 | 26 4 22 [130-230

AFZERSHEN, TEZHERIEREH

1567 https:j/www.wencerl.com https://www.wencerl.com 158




s c<ocerRiC I8 Seting o

BSNGR/L BSIGER/L
By k'
SNGR/L 1B ot SIGER/L 12 Drin@AmIEE h
4
E3
T L] ) |
MEE ] Nz 7]
k. Slotting tool y \ Slotting tool )

#14& Specification e RF

Screw Wrench

#1#& Specification @y WF

Screw Wrench

Tmax @
- & | A Q) |5 A
SNGR/L0806J06 6GRIL 85 2 8 4.7 15 110 7 M2.2 x 4 T7 SIGER0606A-EH 6 8 20 100 5.4 48
GEROICIA 15 M2.2X6 T6

SNGR/L08JO7 7GRIL 10.5 2 8 5.8 15 110 7 M2.5x 6 T7 SIGERO808A-EH 8 8 20 125 7 4.8
SNGR/L10KO7 7GRIL 12.5 2 10 6.8 15 125 8 M2.5% 6 T7 Sakh ek L 'z & s 9 A

SIGER1210B-EH GERCICIB 50 10 1= 30 125 9 7 M2.5X6 T8
SNGR/L10K08 8GRIL 13 3.5 10 7.6 20 125 8 M2.5% 6 T7

SIGER1212B-EH 12 12 30 150 11 7
SNGR/L12M08 8GRIL 15 3.5 12 8.6 20 150 11 M2.5x 6 T7

SIGER1412C-EH 12 14 33 150 11 8.3
SNGR/L16Q09 9GR/L 20 35 16 11.6 20 180 | 14.8 M2.5%6 T8

SIGER1612C—EH GEROCIC 25 12 16 33 150 11 85 M2.5X7 T8
SNGR/L20R09 9GRI/L 24 35 20 13.6 20 200 | 18.4 M2.5x6 T8

SIGER1616C-EH 16 16 36 160 | 14.8 9

ABZREFEH, FIESSERIERES
SIGER2020D-EH 20 20 45 180 | 184 | 121
GERLILID 45 M3X8 T8

SIGER2525D-EH 25 25 45 200 | 232 | 123

SIGER2520E-EH 20 25 50 180 | 184 | 158

SIGER2525E-EH GEROICIE 6.5 25 25 50 200 | 232 | 158 M4X10 T15

SIGER3232E-EH 32 25 55 220 31 19

AFZRSTAN, TEZHEREREH

53 https://www.wencerl.com https://www.wencerl.com [l




s «ecreEe I8 Seting o

B " il ™
15° h
MGIVR/L 3°  Dminf/hmIEE ety ‘ el 4> Dminf/MRIERE - ]
[
| - 4d
M ] [ L1
IH® ||F@ =  — k
&7 R 7
k. Slotting tool y. \ Slotting tool |
#1#% Specification 71 Fr Blade M #& Specification 52 Vﬁ[efch
MGIVR/L2016-1.5 21 1.5 16 | 124 | 160 | 38 | 148 TTIR/L16-2C 24 3 16 | 165 | 125 | 40 | 148 M4 x 15 L3
M4 x 15 L3
MGIVR/L2416-1.5T8 24 | 15 | 16 16 | 160 | 30 | 14.8 TTIR/L20-2C ThE2 = : W T R T T
TTIR/L25-2C 30 2 25 | 175 | 200 | 40 | 234
MGIVR/L2520-1.5 26 1.5 20 14 180 | 45 | 184
MGMN150 TTIR/L20-3C 26 3 20 | 158 | 160 | 40 | 184
MGIVR/L2820-1.5T8 28 1.5 20 | 175 | 180 | 35 | 184 | M5x18 L4 e — = 3 s = T T _— 9
MGIVR/L2825-1.5 30 1.5 25 17.25 200 50 23.4 TTIR/L32-3C 40 3 32 19.8 250 B0 20 %
MGIVR/L3525-1.5T10 35 1.5 o5 | 225 | 200 | 37 | 234 | Mex16 L5 TTIR/L20-4C 26 4 20 | 158 | 160 | 40 | 184
MGIVR/L2016-2 21 2 16 | 124 | 160 | 38 | 148 | M4x15 L3 TTIRA 2540 L 2 i o) WS W O O R
TTIR/L32-4C 40 4 32 | 208 | 250 60 30
MGIVR/L2520-2 26 2 20 14 180 | 45 | 184 | M5x20 L4
A ETR[&if], W = 7 E
MGIVR/L2616-2T10 26 2 16 18 160 | 30 | 148 | M4x15 L3 P Sl i, TR, S e N
G MGMNZ200 e
MGIVR/L2925-2 30 2 25 : 200 | 50 | 234 - kg
M5 x 20 L4 BaEHFEEEAITIR
MGIVR/L3020-2T10 30 2 20 | 195 | 180 | 35 | 184
- ™
MGIVR/L3525-2T10 35 2 25 | 225 | 200 | 37 | 234 | M6Bx16 L5 Q[JDR/L
MGIVR/L2016-2.5 22 25 16 | 1825 | 180 | 38 | 184 | M4x15 L3
MGIVR/L2520-2.5 MGMN250 27 25 20 16 | 200 | 45 | 148
M5 x 18 L4
MGIVR/L2925-2.5 30 25 25 | 175 | 250 | 50 | 234
MGIVR/L2016-3 23 3 16 15 110 | 38 | 148 | M4x15 L3 =
MGIVR/L2520-3 27 3 20 | 156 | 180 | 45 | 184 | M5x20 L4
MGIVR/L2816-3T12 28 3 16 20 160 | 30 | 148 | M4x15 L3
MGIVR/L3120-3T12 32 3 20 | 215 | 180 | 35 | 184 | M5x18 L4 -
MGMN300 RNEHREET]
MGIVR/L3125-3 MRMN300 32 3 25 18.9 200 50 23.4 M5 x 20 L4 \_Profiing Tool inside diameter )
MGIVR/L3625-3T12 a7 3 25 24 | 200 | a7 | 234 | M6x16 L5
MGIVR/L3732-3 38 3 32 | 215 | 250 | 65 30 M6 x 20 L5 #1 4% Specification
MGIVR/L4532-3T15 46 3 a2 30 | 250 | 55 30 M6 x 20 L5
$ Dmin ¢d s L1 L2 S
MGIVR/L4540-3 48 3 40 | 272 | 300 | 70 38 M8 x 30 L6 (@M MTER)
MGIVR/L2016-4 23 4 16 15 160 | 38 | 148 | M4x15 L3 CA0T-QLDR/LE5-15A 160 20 21 300 P
MGIVR/L2520-4 MGMN400 27 4 20 | 156 | 180 | 45 | 184 | M5x20 L4 C40T-QLDR/LB0-15A ZRLDO8-LH 160 40 21 300 80
MGIVR/L2816-4T12 MRMN400 28 4 16 20 | 160 | 30 | 148 | M4x15 L3 C50U-QLDR/L80-15A 160 50 26 350 80 K56 i
MGIVR/L3120-4T12 32 4 20 | 215 | 180 | 35 | 184 | M5x18 L4 pAl CREDEST R > = £ < it
i - C40T-QKDR/L75-15A ZRKDO6-LH 160 40 21 300 75
pp—— e
ABZSTEN, TRESERFHEN C50U-QKDR/L75-15A 160 50 26 350 75

AFZRST RN, TREZFEXRIFEFREH

S8 | https://www.wencerl.com https://www.wencerl.com [l




1J]¥& J] Slotting tool

BN I CERL

BKTGFR/L

KTGFR/L

Dming/hMnTES

Dming/MIIER

. : 3

By
SMEHE T REE T
Slotting tool y s Slotting tool P
Specification wF
7] iy Blade H A& Sp Wrench
# #& Specification
‘ MFKR16-25/80-2T8 17 16 160 | 148 | 25 80 8 MAX14 L3
MFKR20-30/80-2T10 MGMN200-M 21 20 | 180 | 184 | a0 80 | 10
SIEN-RTGFRLIG C.L s L il Y = MFKR25-35/80-2T10 26 | 25 | 200 | 234 | 35 | 80 | 10
$20Q-KTGFR/L16 TGF32RIL 24 20 128 | 180 40 19 M4 x 10 T15 e s i MGMNSC0=M SIS TN R R e i
MFKR25-35/80-3T12 26 | 25 | 200 | 234 | 35 | 80 12
S25R-KTGFR/L16 29 25 15.3 200 40 23 MFKR20-30/80-4T12 et o 21 20 180 | 18.4 | 30 80 12
AT EREMHA, TESEERERTE MFKR25-35/80-4T12 26 25 200 23.4 35 80 12

ABZASTEN, TEEFERERESH

BSGIVFR BEMFHR

X
SGIVFR MFHR
Dminf/MIT H i DminBMITER

R{=1E 7]

Slotting tool

REE 7 °°F

Slotting tool J

7] B Blade H & Specification S%‘?%W \r‘\??e?ch

T—— = = 5 - " s MFHR216-20/140 MGMN20001C] 17 16 | 160 | 148 | 20 | 140 6 M4X13 L3
MFHR320-25/140 21 20 | 180 | 184 | 25 | 140 6
SGIVFR20Q16 GVFROD 21 20 10 180 30 18.4 M4 x 10 Ti5 MFHR325-25/140 MGMN300CIC] 26 25 | 200 | 234 | 25 | 140 6
MFHR332-35/140 33 32 | 250 | 30 3 | 140 | 10

SLIREREatin = — Lo = = 1A MFHR420-25/140 21 20 | 180 | 184 | 25 | 140 6 gL =
ABSRESTAY, TESEERFEGES MFHR425-25/140 MGMN400C10] 26 25 | 200 | 234 | 25 | 140 6
MFHR432-35/140 33 32 | 250 | 30 3 | 140 | 10

AEZRSAEN, TERIEFERFIRESH

5Kl https://www.wencerl.com https://www.wencerl.com [




B @ CERL

1J]¥& J] Slotting tool

BMGIUR/L BSMBB

( MGIUR/L & x |-l—| M

$DEMMTER e

Tmax *

AT EEMpENT
Used for over range groove and
i profiling processing J

Spacification iRk RF
71 Fr Blade Mk Sp Screw Wrench
SMBB1626 16 12 13
MGIUR/L3520-3 : 26 86 43 30
MGIUR/L4025-3 MRMN300-M 40 25 200 45 35 28 15.5 SMBB2026 o i 9 3-Mé
MGIUR/L5032-3 50 32 250 65 35 30 19
MGIUR/L3520-4 3 | 20 | 150 | 45 | 35 | 18 | 13 Maxts k¥ il sPEODC ) . S O - O R i
MGIUR/L4025-4 MRMN400-M 40 25 200 45 a5 23 | 155 SMBB2526 26 86 43 4
MGIUR/L5032-4 50 32 250 65 3.5 30 19 25 23 42
MGIUR/L4025-5 MRMN500_M 40 25 200 45 35 23 15.5 SMBB2532 a5 b 50 8 4-M6
MGIUR/L5032-5 50 32 250 65 a5 30 19
MGIUR/L4025-6 S ———— 40 | 25 | 000 | 45 | a5 | 23 | 19 hdie2e LS i T an i : =
MGIUR/L5032-6 50 32 250 65 3.5 30 19 AFERETHEMN, MESSEREFEH

AFEZRSTAEN, AREZEERIERES
M2020-[] | L
HREE J
BGHVR/L
- g
GHVR/L H
Dming/MI TER "‘—"‘

0",{
e e
EEL P2

ke Slotting tool p.
715y Blade Wﬂgefch

1616-08 6 16 16 80

1616-07 7 16 16 80

GHVR/L1310M11-A16 TC1102 13 16 8.5 30 150 15 r— T8 1616-08 8 16 16 80
GHVR/L1613M11-A16 16 16 8 35 150 15 1616-10 10 16 16 80
GHVR/L1613M16-A16 16 16 8.5 35 150 15 2020-06 6 20 20 80
GHVR/L2016N16-16 S— 20 16 11 35 160 15 — o 2020-07 7 20 20 80
GHVR/L2520Q16-16 25 20 13 38 180 18 2020-08 8 20 20 80
GHVR/L3125R16-16 31 25 16 50 200 23 2020-10 10 20 20 80
AEZREFEN, AIESEERIERESH 2020-12 12 20 20 80
2020-14 14 20 20 80

AFZBSTHNE, TEZBEREFREH

165

https://www.wencerl.com https://www.wencerl.com A&




B @ CERL I rp—

L
EWIES .
CBSNR/L
{
(]
o
MEE 7]
\_ Slotting tool )
1 4% Specification
Blade % Spe 0 A ik 7
I - a P = €
ia . h b L L1 f % \\\@5 ﬁ
"\\__xﬁ
1616-068 6 16 16 80
1618458 i L 18 i CBSNR/L2020K12 20 20 125 32 20
1616-08B 8 16 16 80 SNMF120401(] CP-RCR M6 x 20 L5
1616-10B 10 16 16 80 CBSNR/L2525M12 25 25 150 32 25
e § 29 20 80 AFEHETEN, THESHERIEFEH
2020-07B 7 20 20 80
2020-08B 8 20 20 80
2020-10B 10 20 20 80
2020-12B 12 20 20 80 WSBS
AFZRSHAENE, AEZFEERIERE - -

WSHB . -

_— |

\—
i 90&\_ J_/(r’
T !

© B ¥

- = ) _
M7 J i

Slotting tool 3

SBS =+ —

h1

|wF BagE i 2 RCGIHEaN T - A
Wrench G
i
b h L h1 f L1 & N
D a1 $d2 H L1 @ ﬁ &
SEROLTE iop T 5 SBS-108-CCO6 8 8 50 8 8 12
ccjoso21C] M2.5x7 T8
SRR 16 5 6 14 100 — L2 SBS-110-CC06 10 10 60 10 10 12
SHB0616-100 6 7
SHB0716-100 7 8 SBS-113-CC09 13 13 80 13 13 15
ccoOoeT3id M4 x10 T15
HB0820-1 8 9
SHB0820-120 20 18 120 HS4x 4 L2 SBS-116-CC09 16 16 100 16 16 15
SHB1020-120 10 11
SHB1225-150 25 12 13 23 150 SBS-119-CC12 19 19 125 19 19 22
SHB1632-180 o 16 18 - 180 HS5 x 5 L2.5 Cclt204000] M5 x 12 T20
SHB2032-180 20 20 SBS-125-CC12 25 25 150 25 25 22
AFEZREREN, AIEZFEERIEREN AEZBEFEN, AEZFEERIFERES

167 VHttps:,-/-/www.wénceVrl.com hftps:ﬁwww.wehceﬂ.com 168




a b
SGS
W&
L Slotting tool )

# & Specification

5GS-110-CC06 ccOoso2010] 10 10 60 10 12 12 M2.5x 7 8
SGS-113-CCO09 13 13 80 13 16 15

CCOo9Ta0] M4 x 10 T15
$GS-116-CC09 16 16 100 16 20 15
SGS-119-CC12 CCO1204010] 19 19 125 19 23 20 M5 x 12 T20

AFZTSWEN, THRESHERFEREH

BMSBS
s 5 b
SBS .
MizE T —+
L Slotting tool g

7] K Blade $1#& Specification

e = CCO11060201(] 8 8 50 8 S 12 M2.5 % 7 T8
SBS-310-CCO06 10 10 60 10 3 12
SBS-313-CC09 13 13 80 13 4.5 1iE)

CCLII09T3] M4 x 10 T15
SBS-316-CC09 16 16 100 16 4.5 15
SBS-316-CC12 16 16 100 16 6 22
SBS-319-CC12 ccO120400 19 19 125 19 6 22 M5 x 12 T20
SBS-325-CC12 25 25 150 25 6 22

ABZESTEN, AIEZHEERIERES

(561 https://www.wencerl.com

£% 7] 3k Boring head

BSBS

SBS |

mEE7

Slotting tool )

# #& Specification

SBS-408-CC06 . 8 8 50 8 43 12
SBS—_410-CC06 RELIERGRAEE 10 10 60 10 43 12 i 8
SBS-413-CC09 13 13 80 13 6.4 15
SBS-416-CC09 ceUDosTa00 16 16 100 16 6.4 15 M4 10 .
SBS-419-CC12 19 19 125 19 8.5 22
SB5-425-CC12 Genir2e400 25 25 150 25 6 22 L =0

AFZRESTEAN, TRZFEERIEGRES

MSBS
7~ ™
SBS
2
Q
REHE 7]
\ Slotting tool P

71 i Blade # #& Specification
SBS-110-TC09 10 10 60 10 19 12 M2.2x 6 T6
ccoso210]
SBS-113-TC11 13 13 80 13 13 15
M2.5x 7 T8
SBS-116-TC11 16 16 100 16 16 15
ccomto200
SBS-116-TC16 16 16 100 16 16 20
SBS-119-TC16 19 19 125 19 19 22 M4 x 10 T15
ccOomeT3md
SBS-125-TC16 25 25 150 25 25 22

AFZESAEN, TRZHERIFEFEEH

https://www.wencerl.com

170




$& 7] 3k Boring head

10°

HERET] B T L
Slotting tool y, Pulley cutter bar Y,

L

71 K Blade #1#& Specification BR5T WF JEIR  [EARIE4ET

Screw  Wrench Clamp Plate screws

H1#%& Specification

Q b [ L | h | f | D

SBS-310-TC09 10 10 60 10 4.5 12 M2.2 % 6 T6 PDL2020K-2.34 20 | 20 | 125 |2.34| 20 | 20

ccOOog02010 PDL2B2.34
SBS-313-TC11 13 13 80 13 55 15 PDL2525M-2.34 25 | 25 | 150 | 2.34| 25 | 25
SBS-316-TC11 16 16 16 55 15 M28xT T a0 e ER-0s: | Masid

100 : PDL2020K-3.56 20 | 20 | 125 | 3.56| 20 | 20

ccOdi10200 PDL2B3.56
SBS-A18-TC15 L 2 125 2 E & o E PDL2525M-3.56 25 | 25 | 150 [3.56 | 25 | 25
SBS-325-TC16 ccO16T3 25 25 25 8 22 prE—— —

SIS 150 AESHESTAH, THREBERIEFTH

AFZBSTHHNE, TEZFERIEREH

MSBS

o N
SBS

!/

45°
L

I 1 ) E_

Slotting tool .

h1

##& Specification

SBS-410-TC09 10 10 60 10 6.4 12 M2.2x6 T6
CCL0902010)
SBS-413-TC11 13 13 80 13 7.8 15
M2.5x7 T8
SBS-416-TC11 16 16 100 16 7.8 15
ccOogt200)
SBS-419-TC16 19 19 125 19 11.3 28
M4 x 10 T15
SBS-425-TC16 cCOI16T300 25 25 150 25 11.3 22

ABZEST AN, TEZHEXRIERE

https://www.wencerl.com https://www.wencerl.com [l




OO R 5

WJSDN3CR/L

[ $62.5°
Tool cutting edge angle 62.5°

ShEZET]
L Cylindrical turning tool

71 K Blade

JSDN3CR/L1212K07 DCOT3OO

JSDN3CR/L1616K11

AEZRSAAE, TEESEREETH

BWJSCL2CR/L

Tool cutting edge angle 95°

N

e
Type

JSCL2CR/L1010K06

JSCL2CR/L1212K06

JSCL2CR/L1010K09

JSCL2CR/L1212K09

AFEEZTSAHA, TRERERIERES

FELHHET] Centering machine slot cutter

M #& Specification

i F

Wrench

Md =10

WF
Wrench

https://www.wencerl.com



B Y CERL R A7) contring machine st cuter

BmJSDJ2CR/L BSABLIR/L

( ERm0° : 4 & Tmax

Tool cutting edge angle 90 SABDR/L _ D
-] a = S
D]
' 90° ‘_ 1z ot

-
o 1
- | : i 1 | L |

SN
0° ‘

o

"

0°

00: ) o ‘/
‘ ‘ |
NEFET] SMNEIFET —

o Cylindrical turning tool ) " Cylindrical turning tool 4

71 B Blade #1#% Specification =23 |F

Screw Wrench
&
’ n‘ b h L h i Tmax & g
JSDJ2CR/L1010K07 10 10 125 10 10 16 SABSR1010K-40F ABS15R/L400][] 10 10 125 10 10 4.2
DC0702000] M2.5x7 T8 SABSR1212K-40F 12 12 125 12 12 4.2
12 12 125 12 ] 16 = 1 1 12 1 1 2
JSDJ2CR/L1212K07 SABWR1010K-40F R — 0 0 5 0 0 8

SABWR1212K-40F 12 12 125 12 12 8.2

JSDJ2CR/L1010K11 10 10 125 10 10.5 22 SABSR1616M-40F R 16 16 150 16 16 4.2 M3 x 8 T8
beOmTadl M4x10 15 SABSR2020M-40F 20 20 150 20 20 4.2
JSDJ2CR/L1212K11 12 12 125 12 12.5 22 SABWR/L1212K_50F 12 12 125 12 12 8.2
AT ERESTHA, TESEERESETE SABWR/L1616M-50F ABW23R/L50[1[] 16 16 150 16 16 8.2
SABWR/L2020M-50F 20 20 150 20 20 8.2

AFZRSAEN, TEZHEREHFEH

WJSVJ2[]R/L BCTPR/L

( Fimfoa ) _ »
Tool cutting edge angle 93° CTPR/L

SMEIZET) ShEZET]

L Cylindrical turning tool )

LA

wF a
71 K Blade Wrench 71 K Blade #F& Specification Soa
&5
“ b h L h1 f Tmax \@-\-
JSVJ2CR/L1010K11 10 10 125 10 10 23 CTPR/LO8 8 8 8 8
vehonosnu CTPRIL10 CTPO7-20FRIL 10 10 10 10
JSVJ2CR/L1212K11 12 12 125 12 12 23
M2.5x7 T8 CTPR/L12 12 o 120 12 12 5.5 M4 x 10 T15
JSVJ2BR/L1010K11 10 10 125 10 10 23 R
vBOO11030100 CTPR/L16 TPX15~20FR/LC] 16 16 16 16
JSVJ2BR/L1212K11 12 12 125 12 12 23 CTPR/L20 20 20 20 20
AEZREFZN, AESSEREREH AEZBETAN, TEZEERERES

175 hﬁps:-/-/www.wéncefl.com hrttps:”www.werncefl.com 176




FEIOHIFET] Centering machine slot cutter

BN @ CERL

BTBPR/L BKTKFR/L
TBPR/L KTKFR/L
=
T
_HMEZETD _SEET]
& Cylindrical turning tool P L Cylindrical turning tool )

71 /5 Blade
TBPR/L08 8 8 120 8 3.5 5.5 KTKFR/L1010JX~12 10 10 120 10 10 7
TBPR/L10 10 10 120 10 3.5 5.5 KTKFR/L1212JX-12 12 12 120 12 12 7
TKFB12R28 M4x 10 T15
TBPR/L12 TBPSSFRILCIC 12 12 120 12 3.5 5.5 M4x 10 T15 KTKFR/L1616JX-12 16 16 120 16 16 7
TBPR/L16 16 16 120 16 3.5 55 KTKFR/L2020JX-12 20 20 120 20 20 7
TBPR/L20 20 20 120 20 35 55 ABZWSAENA, TEEHERIFIRES

AFZEESWEN, TEZHERFIFEH

BMCTPAR/L

BKTKFR/L

CTPAR/L

KTKFR/L

o

ki Cylindrical turning tool p

CSNEET 2
9 Cylindrical turning tool o

71 K Blade
ecification L2 #F
71/ Blade #lts Sp Screw Wrench
CTPAR/L10 10 10 120 10 10 | 4.5-9 ‘ ﬁ
CTPAR/L12 CTPAOQ7~20FR/LC] 1 12 120 12 12 4.5~9 KTKFR/L1212JX-16 12 12 120 12 12 8
M4 x10 T15
CTPAR/L16 CTPAX15~20FR/L] 16 16 120 16 16 4.5-9 KTKFR/L1616JX-16 TKFB16R38 16 16 120 16 16 8 M4 x 10 T15
CTPAR/L20F 20 20 80 20 20 4.5~9 KTKFR/L2020JX-16 20 20 120 20 20 8
AFEZRETEN, AIESESERIERESR AFERESFEN, AEZEERIERES

(W  https://www.wencerl.com https://www.wencerl.com [R&:




1.

CE R L

FEIOHIFET] centering machine slot cutter

BTBPAR
MTTER/L(#FE s EE)
TBPAR | | Tmax - N
TTER/L o
E d \!ll{l/‘]:.’?.g.'( 21128 E[
2l I— - —
- ) |
© | |
Bl El
SMEIE ) i ) i o '
i Cylindrical turning tool P ﬁl\ﬁ‘;ﬁﬂ
Slotting tool 2

] F

71 5 Blade 1 }& Specification Mot Writoh
TBPAR10 10 10 120 10 45 7.5 /
TTER/L1010JX-2T12F = 10 10 120 10 24 M4 x 14 T15
TBPAR12 12 12 120 12 4.5 7.5 TTER/L1212JX-2T12F TDC2 z 12 12 120 12 24 M4 x 14 T15
TBPBOFR/LOIC M4 x 10 T15 TTER/L1616JX-2T12F 2 16 16 120 16 24 M6 % 16 L5
TBPAR16 16 16 120 16 4.5 7.5 TTER/L1212JX-3T12F _— 3 12 12 120 12 24 M4 x 14 T15
TTER/L1616JX-3T12F 3 16 16 120 16 24 M6 x 16 L5
TBPAR20 20 20 120 20 45 7.5 — ——
— = = AFZREFEN, TEZFEERIEFRE
AEZRETEN, AESSERERESH
—_ I
BKGMR/L(REER)
BE-PTXNR - \
KGMR/L
cnl
OET R | g ' "
Tool cutting edge angle 100°
L ;
2o = A — = J_ 1
S
2{ SpEtE T
1\— 71 Slotting tool
L =
Cyli d‘?I}JE]“EJJ_ tool
ylindrical turning too S
s ~ ificati i RF
Specification RES
7] / Blade g Sp Screw Wrench
HF
71 K Blade Wrench
KGMR/L1212JX-1.5T12F 15 12 12 120 12 24 M4X14 T15
h L h1 f § ﬁ GMM1520-MT
KGMR/L1816JX-1.5T12F 1.5 16 16 120 16 24 M6X16 L5
E_PTXNR1016X33N i is b 6 e KGMR/L1212JX-2T12F _ 12 12 120 12 24 M4X14 T15
KGMR/L1616JX-2T12F 16 16 120 16 24 MBX16 L5
E-PTXNR1216X33N 12 16 120 12 18 KGMR/L1212JX~2.5T12F 25 12 12 120 12 24 MaX14 T15
TNLICI33 M3.5x 13T T15 GMM2520-MT
E—PTXNR1616X33N 18 16 120 186 16 KGMR/L1616JX-2.5T12F 25 16 16 120 16 24 MBX16 L5
KGMR/L1212JX-3T12F 12 12 120 12 24 M4X14 Ti5
E-PTXNR2020X33N 20 20 120 20 20 GMMBRED=MT
= KGMR/L1616JX-3T12F 16 16 120 16 24 MBX16 L5

AEZRSTEN, TEZHERIFREH AFZRSAEN, TEIEHERFEREH

17

180

9 -H&ps://www;wéncérl.com h&ps://www.ﬁvéncefl.com




B O CERL N A7) Certoingmachine st uter

BMGEHR/L [1[] L F 7= G 512 202013 2 0320 273.5 BKTGFL

KTGEL N Dminf/MITER

.
= —" HGER1 212X 2112F = )
o AN AT 2178

MGEHR/L ]

L
o) . N
1z zjo] :
K - L -
SN 7] { o
ke Slotting tool o L

o 8244 ¥
71 Blade A 1& Specification Screw Wrench

ficati 157 F
71 K Blade #1#& Specification Wrahan

/ w | b h L | nt [Tmax| 4 |
\\_.

MGEHR/L1010JX~1.5T12 10 10 120 10 24 Md x 14 T15 DS-KTGFL14H 14 6 13
MGEHR/L1212JX-1.5T12 12 12 120 12 24 M4 x 14 Ti5 DS-KTGFL15H 15.875 6 14.8

MGMN150-M 1.5 DS-KTGFL18X 16 6 14.8
MGEHR/L1212JX-1.5T12F 12 12 120 12 24 M4 x 14 T15

DS—KTGFL19X TGF32R/L 19.05 6 20 17.8 M3.5x 10 T15

MGEHR/L1616JX~1.5T12 16 16 120 16 24 M6 x 16 L5 DS-KTGFLEOK o5 5 184
MGEHR/L1010JX-2T12 10 10 120 10 24 M4 x 14 T15 DS-KTGFL22X 22 6 20
MGEHR/L1212JX-2T12 12 12 120 12 24 M4 x 14 T15 REcAIO b =0 L =8

MGMN200-M 2 AFEBEESWEN, TEZFERFERTES
MGEHR/L1212JX-2T12F 12 12 120 12 24 Md x 14 T15
MGEHR/L1616JX-2T12 16 16 120 16 24 M6 x 16 L5
MGEHR/L1010JX-2.5T12 10 10 120 10 24 M4 x 14 T15 BSDUCR/L
MGEHR/L1212JX-2.5T12 12 12 120 12 24 M4 x 14 T15 i R

MGMN250-M 25 + {5 595° Drin/MRTEE -
MGEHR/L1212JX-2.5T12F 12 12 120 12 24 M4 x 14 T15 Tool cutting edge angle 95°
MGEHR/L1616JX-2.5T12 16 16 120 16 24 M6 x 16 L5
MGEHR/L1212JX-3T12 12 12 120 12 24 M4 x 14 T15
MGEHR/L1212JX-3T12F MGMN300-M 3 12 12 120 12 24 Md x 14 Ti5
MGEHR/L1616JX-3T12 16 16 120 16 24 M6 x 16 L5

ABZESAEN, TEZEERIEREH

Internal turning tool

DS-SDUCL14-07 13 14 100 25 13 B
DS-SDUCL16-07 DCo702010] 14.8 16 120 25 14.8 0° M2.5x6 T8
DS-SDUCL20-07 18.4 20 120 25 18.4 0°
DS-SDUCL16-11 14.8 16 120 25 14.8 0°
DS-SDUCL20-11 DCOO11T30OO 18.4 20 120 25 18.4 0° M4 x 10 T15
DS-SDUCL22-11 20 22 120 25 20 0°

AEZHSTEN, TEZHERFIREH

181

https://www.wencerl.com https://www.wencerl.com [




__JA

CERL

FEIOHIFET] Centering machine slot cutter

BKTKFSL
KTKFSL 1
ShziET]

Slotting tool )

7] B Blade

#1}& Specification

L1223

¥

Screw Wrench

BMCTPASL
CTPASL B
SMEIET]

Slotting tool )

##& Specification

wF
Wrench

71 K Blade
‘“/
CTPASL12
CTPASL16 CTPA20
CTPASL20

§i Eh 125 1 12 255 7
16 16 125 5 16 27 7i M4 x 8
20 20 125 15 20 30 T

T15

KTKFSL1212K12 12 12 125 15 12 22.5
KTKFSL1616K12 TKFB12 16 16 125 15 16 25 M4 x8 T15
KTKFSL2020K12 20 20 125 5 20 27.5
AFEZBEREN, AIEZFEERIEREN
~
CTPSL
el
L
{ cIes | =
i f 1
SMEHETD
Slotting tool )

7] i Blade

1 #& Specification

[1ved

WF

Screw Wrench

CTPSL12 12 12 125 15 12 21
CTPSL16 CTP20 16 16 125 15 16 24
CTPSL20 20 20 125 15 20 26

M4 x 8

T15

AEZESHENH, TEIHEERFIFES

183 hrttps:f/www.wernceﬂ.com

AFZBESTEN, TEZHEREHEN

Hﬁps:f/www.wehceri.com 184




BN @ CERL "
71 5 BY B 45 %1 35t BB Preparation description for model of blade

£ 6"/ J1E etk Shape of blade &
[ 3
: ArNAraracank:
mm
E 7 . - - PN
% 401 Wl ot = T =T = T e B A RESTH RSN 2 B,
(Used in milling cutter) 5 7 i (l:h;:;knezs of blade'fnd the bottom surface of the
e 3 = 05 04 04 : utting edge portion between the height of the highest
s T1K 4% Shape of blade WL = Procwansade T 03 | o9 | o6 | o5 | o5 i : Z: i 2B
8 Tkwm & = =(mm N 09 . i
o | EeRmrsIeTRen o {ét? ﬁij;?m%n) pi%:njwtm?]: %?mﬁ‘-ﬁ (Fefrencelefalls of -grads precicacooning o g, 22 06 500 1 1.39
O | E/\ 7 Regular octagon O ode Heiggll‘ of tool nose| Incircle allowance| Thickness I‘N?: az:;]olml posBim. = 04 11 07 06 06 6. ” -
owance Ii Bl IE= IEF R |80° &R " B : il
P | 57 Regular pentagon O SomaTes Incircle|Regular| Square go¥ﬂé 555;%”’: Sgs;i Rﬁd 05 13 09 " i
A +0.005 +0.025 +0.025 traliale rhombus{hombus| fhombus o5 i 214 L [l T 17
% S
S | EF# Square [ F £0.005 +0.013 £0.025 | 635 |+0.08] £0.08]+0.08] +0.11]z0.18] - 09 &0 h 220
T | E=ff Regulartriangle A (¢ +0.013 +0.025 +0.025 9525 | +0.08| £0.08| £0.08| £0.11 | £0.16| - 4o L i i L] 16 Hi9es T2 2.78
C | #mmmao-Rhombus vertex angle 80 /7 H £0.013 0013 | =0025 | 1270 [+013]=013]+0.18[+015] - | - 9 2 03 3.8
D | #mm#msse Rhombus vertex angle 557 /7 = 0025 =005 s00ps | 15875 | 0181 +0181 015, +018] - | - 2 Jed 3 3.97
E | BRM#M75 Rhombus vertex angle 75| /7 G +0.025 +0.025 To1s L1905 | £015| £0.15]| +015| x0.18| - = 12 08 22 15 12 12 22 12.70 :
- ; = = = - - 04 4.7
F | ##IA%&50° Rhombus vertex angle 50°| /7 2 = - o zf :: tglg = = = L Z il :
M | R m#me6: Rnomb - i sl =005-20.18 | 0028 | ) T if 16.00 06 6.35
% o t 5 —~ -
ombus vertex angle 86°| [/ L £ 0.025 L E0HE 0% Nglﬁézli:f;;m)minmrcle $ D1 allowanje (mm) 19 13 23 19 19 33 19.05 07 7.94
¥ [N R \n"ertex angle s g M +0.08-+0.18 +0.05-+£0.15 +0.13 Incircle Regular, Squar; a[)¥ﬁg 555;?ﬂé 325$W ﬂ:ﬁd 20 Eiid = i
W | s s mp Suiatoraiheragon N' | +008-20.18 | +005-20.15 | 20025 | rangle thombus|thombus| horbus 27 22 22 38 | 22.225 ® 7 [EEHS Blade thickness Code
L | #%% Rectangle B u* +0.13-+0.38 +£0.08-+0.25 +0.13 9.;:5 05| 2000 [ £0.05] 2005 | 2006{ = 25 25.00
] 0.05| +0.05| +0.05| +0.05| +0.05| +0.05
o mes. Paral = £
A | FiimaRmmss [anbyxangie bs | 1270 | 2008| £0.08] +0.08] £0.08] - |+0.08 2 . .
B | semammmer: ‘I:’g'[[ael;e;?]%igrgzo = ;ﬂaigﬁn{z&zgiﬂﬁﬂﬂﬁh N 15.875 | £0.10| £0.10| +0.10 £0.10| - |[=z0.10 31 38 32 31 54 31.75
K | Fsrminmmmss: Parallelogram |~ @ with unpolishad slde 19.05 | =0.10] +0.10[ +010] +0.10] = |00 g2 32.00 \
R | @#% Round ) 2540 | - | £013| - - - |x043 ® 7046 B S50 $E E £ BLength code of cutting edge and incircle code 10 71 K B 4R 2 SPip breaker groove
@ W&Rﬂ Sh 31.75 - = — - - +0.15 | Ff£ 8 Nocode c ES
21k X5 Shape code (3) HEE Precision code
| 5 HV-NV-NP-N
Q 3 12 04 E
| ® - FH FJ FS
N Y- -
|@ @ [ 1
l Fv GH GJ
ERRE [ @ 7IRENMRS ® TOLERS @ fEFERS
@ Relief angle coade (4) 18, FLILS Groove and bore code 1;:2' nose a’;g::";; Cutting edge handling code Code of cutting direction L
S (mm) " '
g JEfa(E) Code aditis of arc otk TOEE  |pe Y
gf,?e Relief angle (degree) 43 Metric system ; Eeai%L Shape E’L? f%ﬁ%&é Code
0 ’
Al s | [gsl[EZR ” metet - = =
=S FLEITEAR = TIEEE e b KT
Cade| Haveor H i I S| AEXA FLEGREAR | IR EIE V3 0.03 F
5 & ode| nopore | Shpeofbore bmg{a"m@g’ Blade section | Gode [Have or no bore| Shpe of bore g'%‘gig;gocmp il — == Sharp blade
e Bl 7L+ 2 E :
W A 40-60° x t=] [E#E7L x
c 7 W Have Cynindric bm’e . No B | A Hove |cyindriobord Mo |HLI LW o o1 | poEEam | e
] thond Rounding blade MA MH MJ
e 5 Single-sided B " 02 02
D 1 / ! chamfer(40-60° ) g; _ 5 B4R
5 J!f Have ) Single side mj ﬁj M Have Cylindric bore| Sir%léﬁside EDj w 04 04 N
£ 50 a EAEFL R £ . 08 B0
¥ (40-60° ) H BT 1d /| chamieri T
: Have e S boree No EE] G Have Cylindric bore| Dot,?gllﬁide D:D 12 12 b""%rg orne
£ % N o| B |Bowecsces | wm | mEm [ n| X = i e = w o
- H - i = ! ;
& % \.&— ave Double side No No l:l U 5 o B ) %Io%tﬁka!%ﬂ 7 s . N
: : " | handling blade iz '
5| & |mE.emem| % * , ;
N 0 JE e . 1.‘7:“.91’) ) No Bl W | R No simonsice | O 24 24
ylindric bore + 28 o8 ERNAHBT NOEERS
P n W H| B, |Snole-sided . | 2H . |IEH W | F 7 - & | = The company omits the code SA sH sw
o Double side 32 Hrnecds
Hiptp /S
o ie A | EHIRE TEEERT | @

Other relief angles G| i, Gos90e ;ﬁjﬁ Ni_:o = X = - - R O0(51) Cirﬁﬁf d ﬁ\
RIS E M T AR - Spovial  MO(2 ) - —
Relief angle refers to normal J E- Dgubte—sided ! y%ﬁ Egj E&?’"em'b'ade
relief angle of main cutting edge chamfer(70-80° | ortishysysterm)

g Have ( )| Double side MO(metric system)

186

(551 https://www.wencerl.com
https://www.wencerl.com




